interegt per annum and an
He received an interegt of
sted, he would hgy,

A person invested an amount of ¥ X at the rate of 18% simple

amount of ¥ Y at the rate of 12% simple interest per annum. ‘
nve

14,320/~ at the end of the year. Had he interchanged the amounts1

received an interest of ¥ 4,680/~ Then|X -~ Y|=

(1) ¥9,500/- (2) 8,000/ (3) ¥7.500/- (4) ?86’0;0/ <

25 58 KOSHIE 18% Gios® ertoishs X rdape Bogd) $H0 03580708 12‘2‘& 08 ersisiy
Y Srdabe Aoty dpmdm Brth, Sosérosins® o 4.320/- Grarae ST o, ¢
Sogreo HEK)E5m 518, dod e 4,680/ - Erarado 54 o GOGTD. o8 |X — Y=

(1) 9,500 &rSoashen (2) 8,0008rFcHeD
(3) 7,500 &rdrchen 6,000 Er3rCHe

The ratio of a principal and the total amount with 7% simple interest rate on that _

principal after 1 yearisa : b then value of rin texms ofa, bis
. sibents $oBafs T 2.8 oS Bo S 1 Firs; 548° oGk HERE KO ARG a 1 bead

rdevda be & .
b-a b-a b-a b+a

0 x100 4 %100
( ]xlOO (2) ( 7 }xlO (3) 2 (4) —

a

A person invested ¥18,000 at the rate of 20% compound interest per annum. Then the

interest he gets after completing the duration of two years is %%E
2.8 558 18,000 &rarcheid owns 20% Bewd® 38 55§§ DENRAEMT DEFD. OLPL GO JoHEore S

5556 78 oS S0y @B 53 58
@) 77920 (2) 74,320 (3) %6750 (4) 8,670

A building of initial value Rs. 31,25,000 depreciates in its value every year at the rate of 4% on
its value at the beginning of the year. If Rs. x is the value of the building at the end of 3 years
and Rs. y is the value of the land which appreciates at the rate of 5% Ei)mpoundingly and the
value of the land initially is Rs| 32,00,000theny ~ x =

31,25,000 &rarabe Dend 6 2.8 550 Denis Gy S5 (58 $058)50 & KosdyS @rdowod® &)
0 e B 4% Bkoo S5 A0k, 3 BoSdtre Soves @ 25550 Dend x Erdrdhes $Bakn FrEogos’
32,00,0008=dfbe Deni $D 5% 2oroese B Saborm 9 $eo Deis y Eraraod, y — x =

(1) 609700 939600 (3) 600000 (4) 508900

"

IfT,=T,,+T,,Yn>3and T1=T2=1thenT1+T2+ +T, =
vt Tg =
Tn=Tﬂ_]+Tn_2‘v’n23a’a>6din T]:Tzzl@owé'l"l+’l‘2+ +T. =
el | e
1) T,+4 = '
(1) T, T, -1 (3) T, +1 (4) T, + T,

__—-_"/

-



f.

Certam amount "x" 1 distributed to thyeg persona A, B, C. A gets 25% share of x. Twice the
difference of Band Cisequal to the shape of A Then the ratioin which A, B, Cget the amounts
is ¥
A, B. C 85505 Fod Iudo x Hodnlon, x 6f 25% mird A Sromih. A rie B fbols Cartre
aﬁm&ma&ﬁ m. j!|||_ EFCWMMH%-

(1) 26:72:59 4:17:5 (3) 8:13:9 (4) 2:7:6

The averages of 3 different data Dy, D, D, are 30, 40, 50 respectively. If the average of Dy and
D, togetheris 38 and that of D, and I, together is 42, then the average of the three data D, Iy
and Dy together is

Dy, Dy, D, o suntds D) Savosre ditnes s 30, 40, 50. D, H0ain D; o Soasd #rity
38 Sobatin 1, bl Dy o Soding Sxtw 42 wand Dy, Dy bdia D, o frdods St

(1) 4453 (2) 42 (3) 4312 [@) 40

Ina police battalion of 600 police, the average heightis 150 em. Later it is discovered that for
x policemen heights are copied wrongly as 160 cm instead of 190 em: By taking the Correct
heights, the average isincreased to 155em. Thenx = )

600 So0d Sbien oy 8 FDS BrbakS 60 ot SoB8 A% 150 Ro. Do, Sovgd, 20 x ob
00 0 2fhen 190 Do, &, atbare 160 2o, ., e erdbalid ol B, 50 wond Jdw
Brutaol], 0 HovisD 2 1550, {b. o DOAOBBHND x = e
(1) 120 () 100 (3) 180 (4) 150 &

|

The marked price of a newly arrived article shows an increase of 15% on its cost price, Later
thismarked price was decreased by 20% as the article isoutdated. If the cost price of the article
is 71,200 then the profit or loss for the shopkeeper with the current selling price is

(1) S%loss . (2) 8%Iloss (3)  10% gain (4) 7%gain
e 50, H0% o8 Sk k) HE68 Do A THIuP 15% My Srbid. © S AuE) seo
208 SGhd oD HE0E Jud 20% SfoTrd. 8 i dul) T 3o 1200 Srdrdboand G
S0y Bob® 8 Hem it 55) st o S |

(1) S%go 8% 550 (3) 10%ergio (4) T%ego

10,

A sum of T 5600 s distributed among 12 people consisting of men, women and
children. The ratio of the total amounts given to all men, all women and all children is
9:4: 1. But the ratio of the amounts reccived by each man, woman and child is 3:2: 1.
Then the amount received by each women is '
(1) %250 (2) ¥300 (3) %400 (4) 7450
Bthitpes, oo Hobain byen o 12 00 So® 5,6008rirabe Snvd, Sobd Sed. Hthibecstd,
bl Sbctin Sesotits iy oy Soaro M40 9: 4 ; 1. b 56 G, B8 § Hbke @8
;aga-ﬁﬁéé forr sobs Boero 958 3 : 21 1.0onBBb & 8 wonis vk,

(1) 2506niaber  (2) 3008030 (3] 4006rdaben  (4) 4508rdraen

3



11. A shopkeeper sells his goods at 30% profit on cost price. Due to an error i weighing
;?im, it weighs 20% more than what it displayson its sereen. Then the profit or losshe gets1s

SLeprofit  (2) 10%profit  (3) 10%loss (4) 3 loss
8 G 030 S £ 565 30% etod Dfendth, §r6k dhogos’ o Blo B
BED E010% £t Sy 20% 35 i Erihiiod. epe w808 53 oo S S50
@ E‘I%ﬂ:ﬁm (2) 1% e (3) 10%555 (4) 3;-*‘-“5’5”

12. A Shopkecper sells an article by offering 24% discount on the marked price and there by gets
 loss of 5%. If he does not offer the discount, then the gain /loss he gets is
?'[}3) 20% gain (2)  29% loss (3)  25%gain (4) 21%loss
Gosre A BEa DD 24% m@mmmﬁ 5%@3&@.@3&&9 wlod
&%) egodor Sgo.

(1) 20%ede - (2) wwsge  (B) 25%ege  (4) 2%

13.  Acan complete a piece of work in 18 daysand B can complete the same work in 12 days. Both
beﬂ'lrl_thu work together but after some days, B leaves the work. IT A finishes the remaining
work in 3 days, then the number of days Bworked is , .
AeX 500 188 wedis Stk Bed i 128 wustie o daiiod, sg8r 500 &0l &

£ Bao 858 Be 500500 330t A0S 507 384 Alradh, B0 Ib Soro oy
(1) § (2) 8 (3) 4~ ((4) 6
14. 14 men can doa work in 18 days. 15 women can do thesame work in 24 days. If 14 men work

for first 3 days and 10 women work after that for 3 days, then the ratio of the time taken by

7 men alone and the time taken by 5 womenalone to complete the remaining work is
14 ool B &f 599 18 Fwed® Sdblfoth. 15 fod Sow of $09 24 Seed Sabicd.

14 008 Hodoes Znsl 3 Graes 59 88, 30300 3 B'eren 105000 Seo B0 B, ADS AT 7ol
Bhie Srdid 8 FhTeo, Siob o Srgd ird I suivo N8
(1} 2:3 (2} 3:4 (3) 1:3 @ 1:2

15. A alone can doa piece of work in 10 days and B alone can do the same work in 15 days. A and
B agreed tocomplete the work for 130,000, With the help of C, they completed the work in
5 days. Then the amount to be paid to Cis

{1} 1 of the amount to be paid to B, (2) Equal tothe amount to be paid to B,
3

(3) ;_n:tf the amount to be paid to A, (4) ;_ of the amount to be paid to A.

L5500 Angjd 108 wod® Sdbrio $ocn 3500 Bald 158 e’ Scbiieh. A, Be» 30,000
drdrdheh ® 500 b Sehd solSborth. Chddhes’ »hHh o B8 58eed b 33, sand

8 3008 2ndo
(1) Eﬁﬁﬂﬂﬂwaﬁ*}ém. (2) B230od vaissmo. ﬁ
(3) ﬁﬁﬁﬂnﬁanéné‘_;.ﬁmﬁ:-. Aaagoaaagoé;_:;m.

16. If 21%% inerease of a numberis 98, then 22%% decrease of that number is

8 Souysh 2% D00 98 eand, 8 ougs’ 221% oo
(1) 49 (2) 33 62 (4) 45




17.  Amanstarted 10 minutes late from hig home to his office. He travelled at a speed of 1 1_ times
4

of his usua}l speed and reached his office in time. Then the time taken by the man to reach his
office at his usual speed is (in minutes)

&8 &8 8% 2o8%08 $ ediing 10 Apen woBT oHeBoeD. ©8 Yerden Srds 11 e
4

BHE S8 085 S8 $%HcHo (Muepes®)

(@) so (2) 60 (3) 45 (4) 75

18. Twopersons P and Qstarted travelling towards each other at two places A and B respectively
at 7AM. The spee@s of Pand Qarein the ratio4: 5. Somewhere between A and B they met at
Cand spent some time together. From C at 8.07 AM P and Q started travelling towards B and
A respectw‘ely. If P reaches Bby 9.12 AM, the time they spent at C together is
(1) 12min (2) 15min (3) 17min (4) 20min
6ddho 7 HotredH P $8ckn Q&0 SBdre A Hdcso B .agaw 500D 2,86 FIH DSBS axdhen Bovd.
P 50800 Q © 3o 98)8 4: 5. A %80k B o %55 C 03 5% 308 30080 508 $aho KEard.
C 3008 étsoo 8.07 Koterd P L8dkm Q e» $GH™ B 500 A © FHE adben Bookh. B édaho
9.12 Koo PE8E, C5E aeth) SO 5B $a%o0.

(1)  122%0dren 15080dper  (3) 17Rs0dren (4) 2003pe
19. The time between 7 and 8 O’clock when the minute hand is 5 minutes behind the hour hand is -

(1) 30 % min. past 7 O’clock (2)° 328 min.past7Oclock @um
11 =
(3)  43. min. past 7 O’clock (4) 312 min. past 7 O'clock
11 11
7 500ain 8 otre Lt AP e Kobe Swey Eod 5 Aaren JHE G0t Kado. :1_
1) 7Kobe 302 dwpes 7ot 35 8 Dwdren
(1) 302 32
(3) 7Hobe 43 L QEwpen (4) 7Hobe 313 dwdren
11 11

20. If m and nare the number of rotations of hour-hand and minute hand of a clock respectively

in 72 hours; then n—m =
2.8 KRASRE0S® 72 Kobed® Kot Swey, AP Sneven SEKMT m HBSW n L F°8 &0 T

n—m=
(M) 66 (2) 72 (3) 24 (4) 56

21. Three persons X, Y and Z are employed to do a piece of work. X and Y together completed 2!
25

part of the work. Y and Z together completed % part of the work. If all the 3 agreed to complete

the work for 3,250, then the amount X receives more than that of Z is
2.6 599 570 Baorea8 it S X, Y 00 Z en dabossearesd. X 00ds» Y en 800 2L epifo

25
52D % %02 8 grrio O 55rg . &8 $ID G0 BSOS & ForHse 3,250
S0V Grg DS, Y 0B Zen 80D = 8 RS s! 0
B rdbet a,5y0t0 KEbEod Z %08 X B K55 53 ando.
(1) 2,210 2) .--520 1,690 _(4) 1,170
’ 5




22.

—==roo e EETCT SreTeeTws i
5 IS’ [wm — oy
-

In 2022 August 15% is on Monday. Then the day of the week on which Republic day will be

celebrated in the year 2024 is ;

(1) Tuesday (2) Wednesday (3) Thursday o I

2022 eisy 15 Aoarso wawd, 2024 $ HoBByBos® Kndoy BFESo HHBHIB T o
ST H08 & S

(1) Soxemto (2) etimdo (3) rodoedo HETBo

23.

A person P started a business with 25,00,000. After 3 months, another person Q
joined P with ¥4,00,000 in the business. At the end of the year, out of the total
profit Q received a total of .?50 ,000including 20% of the profit for managing the business. Then
the amount P received is

PeoJed 58 5,00,000 Srdrches® 2.8 o) oo, 3 Jve Sthard 4,00,000 Brarohest
Q o3 8 S8 P & aesdetos® Sovid. S058 070806 Fndo ergo 08 e oe) ABRro DTS
iR e2506° 20% & EeoH&R Ingorr 50,000 Erdraboss QErowr. wond PAPosS Frin

(1) 745000 (2) 55000 (3) 260,000 7 50,000

24,

A, B, and Cstarted a business with investments of ¥ 4,200, ¥ 8,400, T 5,400 respectively. At the
end of the year they got a profit of ¥ 6,000 and they reinvested their profits in the business. At
the end of next year the ratio in which they get theirprofits is
A, B, Cen 38535 ¥ 4,200, T 8,400, 5,400 3)&1335&)05‘ 2.8 TroeR) (BPB0DoTS. Soddorosos®
88 T 6,000 ergo H0y08. 6 ergred IBos® BBA eNDEM BEPL. S0 SoBE)¥o &° T
o8 erere A48. '

7:14:9 (2) 8:11:17 (3) 23:54:69 (4) 29:56:36

25.

A rectangular plot of dimensions 210 meters x 120 meters is divided into 4 equal parts by two
roads each of width 12 meters running in the middle of it, one parallel to the length and the
other parallel to the breadth. Then the area of each part is (in Sq. meters)

21085 % 120 D en Sodenrr Ko 2.8 5§ SHEIPEEDH So0 Bw¥) PEHD, Iy SErosBore dotw
$er08 sy Besdigy 12 2. © Btfen) Ko Toth 5% e Yerdy 4 S5 grrresre BT, ©ovd
a8, grifo GIwk) 8°050 (5. 06868)

(1) 10,692 (2) 6300 (3) 3816 5,346

26.

For a square, the lengths of its side and diagonal are equal to the diameters of two unequal
circles; The ratio of the areas of the smaller circle and larger circle is

2.8 BHYB0 Bk Ghesdioo AW HEGwe FrHen Botd OIEES Hygre e SErSDE, O
B0 SO DY )80 ST A mgE

(1) 2:3 (2) 1:3 1:2 (4) 2:5 ®

27.

After 2022, the next immediate calendar year which will be same as 2022 is
2022 0S8 8oerr CHTPSEONT o8 sBows $058)50, 2022 $5raed Iob3 $T) SosS80.
(1) 2032 2033 (3) 2026 (4) 2028

———
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solid cone 1 .
28. A:S ;’08 ) IIE r;elted and with that entire material a sphere is made having volume of
- I%eUe e’ AL the radius of the cone and sphere are equal, then height of the cone (in

oV " g
q)w“ ¢ centimeters) is

2.8 8059 E0M0N & Fnwio DTS o500 38,808 cm? 6 &8 el B Ba. S0

a“;ﬁ”QO, ¥o 53"5.5"0;& R&r50 wond, o iy (ol g)aéagés).
(1) 42 (2) 25 @ 84 (4) 36

- e
29. PipeA Ci}n fill a tank in 30 minutes and Pipe B can fill it in 45 minutes. But third Pipe C can
empt%{a ull tank in 15_ minutes. A and B are kept open for 15 minutes in the beginning and
then Cis also Operjlewd. Since then the time required (in minutes) to empty the tank is
28 er08i AR ) 30 AT octsr, Beod 258 45 QxS dodui. 0 s i CRot

50 150303res 320 Babrien. At 1520566 A, Bob 860 comt. 8thard CO T

B0, 03 %008 e 1rd SN ssens vHabo (Aared®). M L B
(4 0 ® -},"';3”\3'

0 15 i o s

30. Two lnl‘et pipes A and Bworking together for 4 hours fill 72 units of waterina tankhaving capacity
160 units. If A alone can fill the tank in 20 hours, the time taken by B alone to fill the tank is
(1) 2S5hours (2) 15hours (3) 21hours (4) 16 hours
160 0t S50 Ko &8I A HHbdcko B Frepes EOD 4 Koteos?, 72 irde A" JoHaeon.

A2%)8 &85 20 Kobod® o8, Be.§)8 &GS D0 BSHcHEm,
(1) 25K0be (2) 15H0Le (3) 2loben 16 Kotsen

31. Two trains run on parallel tracks at 126 kmph and 108 kmph. When they are
running in opposite directions they cross each other completelyin Sseconds and when they are
running in the same direction a passénger sitting in the faster train sees that the other train
passes completely in 30 seconds. Then the length of the faster train is (in meters)

Toth Bh HETosE HereR Kotk 126 8. . Hdak» 108 &. 8. 3K508° BRI, ©d $;8T8
8IS HHRDHBDYND ©) wEITES o eS8 5 LoD HH&oh. O o8 BES
SR, &S T8 Ity Toos® Ertyd) a8 PHAreBtd Botkd Jend & o™

&3S 30 Doth HBotsd KT, ©oud H 3o8® 38) Ben resH (02gs”)
(1) 150 (2) 200 175 (4) 225

32. A train of 450 meters long moving with a speed of 65 km/hr crosses a man travelling in some
direction of the train in 27 seconds. Then the speed with which the man moving and his direction is
1) 15kmph; Same direction 2) 1S kmph; Opposite direction

3)  Skmph; Same direction k. 4) Skmph; Opposite direction
450 Sotots BRES EDS Ben ot 65 8. . IK08° HAsredir 27 EHeE 2.8 BES® HaSrB) ol

95890 treniod. © B8 BcseeBod Ao O BSrdod 6%,

(1) Kot 158.00;280% (2) Kot 158, &; $;085 68
Kotsth 58. &; 28 &% (4) Kot 58. &n; 5,835 83

e —
33. Two cubes, cach of volume 4,096 ¢.C., are joined to form a cuboid. Then the difference between

the surface area of the cuboid and the total surface area of the two cubes is (in sq.cm)
$%68e0 SO Toth ek 80D a8 BF o) DEOTD. O

55,8 4,096 . 0. . g
Bsiiors0 Gty 63080 PO 2B Botd T 0B Faerss Anerds Ko Bto (8. 0. . 0d’)

512 (2) 256 (3) 1,024 (4) 1,536

A




34,

In a mixture of acid and water, if 1 liter of water is added, then the new mixture. contzfms 20%
acid. When 1 liter of acid is added to the new mixture, the acid in the resulting mixture ig

33-5 % . The percentage of acid in the original mixture is
e (acid) 8aw Dive Doos® 1 Hexth DB K018 & &8 Doinod® 20% &30 60b. & &

1
DEE8 1 Db aiitn 508 508 HFDIE 33 2% ifin doknod. GrboBne™D ifiost

Ko sdHavdo EEE

(1) so0 (2) 22% @) 25 (4) 37% ’

33.

"The speed of a motor boat in still water is SOkmph. If the motor boat travels 60 km

against the stream in 1hr 30 minutes, then the time taken by the boat to cover 100 km
along the stream is (in minutes)

QB DD BD 2.8 Irerb HES @) o Kok S0 8. &. 1 Kot 30 dWres® Haris
QHEHIT @ IrerE 5655 60 8. . Hardd, Barro Food © 555,100 8. . HarBosmE $B
Shado (Airest)

(1) 130 (2) 110 (3).. 135 (@) 100

36.°

A Motor Boat travelled to a point B from A and returned to A. The speed of the stream is
3 km/hr. If distance between A and B is 2 km and total time taken to the round trip is
30 minutes, then speed of the motor boatin still water is

A %0l BE 2.8 et H5 (30iredod 80N A% o). @arie o ot 38. &o.en. A, Be s
ti50 2 8. d. HBAH G0 BrerdS HE S0 30 Avdren wand, D)o D $ES 3Ko.

(1) 8km/hr (2) 1km/hr 9km/hr (4) 6km/hr

37.

In a race of 1200 meters, A can beat B by 120 meters and in a race of 800 meters B can beat C
by 40 meter. In a race of 400 meters by how many meters can A beat C ?

1200 . © 5% $080&* B A 120 &, o 8x08° £.805K0th £86% 800 &. & H5% So30s C9
40 5. © 8tr8® Bé.BoSKetd. 400 . & H5%iH Sodost C o Y &3 Bre&® A 8,805 ?

@ 58 (2) 42 (3) 60 (4) 54

38.

In three different vessels A, Band C, a syrup and water are mixed in the ratios of 2:3, 3:5and
5:7 respectively. 15liters of mixture taken from A, 16 liters of mixture taken from Bandxliters
of mixture taken from C are mixed in a new vessel to have the ratio of syrup and water as 2:3
thenx =

o3t DY Arden A, B0ty Cob® . HET 58080 DOV S8 2: 3,31 5060k 5 ; 7 Aydoes®

SO0, AR08 15068 Dy, Bod 16Hea D) 0o Ciiol xHests s, S
o8 58 FrB6° 5D 00 I DB 2:3 e dhytaton EOBTD. wond x =

24 (2) 20 (3) 18 (4) 17

e

8



39.

The present age of A is twice the age of B. 15 years ago the age of A was thrice the
age of B. Then 25 years ago the age of A was |
(1) 7timestheageofB. . (2) 6timestheageofB. gng
(3) Stimestheageof B, (4)  4timestheage of B.
A ¥ B Sy B @) Sabiin Both Bky. 15 SoSdyore Bdo A Gk Sabiy B G’y
AR ot Be. wowd 25 Kosdyore Bo A GwE) HaHi)

@ B Gwg), iy 736w, (2) B Sckiind 636,
(3) BawE) Scibso SBep. (4) BGwE) Sl 436

40.

The ratio of ages of Ram and Rahim after 5 years from now is 11 : 10. The ratio of their ages
4 years ago was 8 : 7. The ratio of their present ages is

o, 885 © Scahdne QB 5 BoSEyore Sord 11 : 10. 4 SosEyore Hwoth a0 ScHdoye 08
8:7.7°0 B8 Schdne O8.

(1) 19:17 SIS - W % (@) 28:25 (4)\21:25

41.

The cost price of an article Bis 25% more than that of an article A. Articles A and Bare marked
up by 30% and 20% respectively. Article A is sold at a discountof 10% and article Bissold ata
discount of 5%. If the selling price of article A is ¥ 51 lessthan the selling price of article B, then
the cost price of article Bis

B o3 o8 $x0%) Qo) E°%) 855 A o3 i Gy §7) 658 Kol 25% 8y, A, BEikde en SHI
30% 9B 20% S HESEDroD. A 63 S 10% 8hod8 e, B S0 5% SNoRE
D onoTth. A ©F S Gy @D 6 B o S Qwd) 08 $8 %08 51 &rddbe $%,38
Bod 5500 Gw¥) 8578 &8.

(1) T200 - 2250 (3) %260 (4) 7300

42.

The cost price of an article is 64% of the marked price. If the article is sold for 12% discount on

the marked price, then the profit percent is
25 500 B 58 HESE $5E° 64% HESS 8D 12% Trond 510) 8 SKH 08 ol T&o

(1) 48 (2) 285 37.5 (4) 25

43.

In one kilometre race, A can give B a start of 100 m and can give C a start of 200 meter B can
give 20 min to Cover a race of 200 metres. The time taken by B to run 200 meters
(1) X min (2) 1 min (3) 2 min (4) 2 min
4 4 4 4
o BP0, o o8B0t A, B 1008068 6% CR 200 g6’ 8oisKetd. 2005068 Hodos®

B. (020 Dskre Sc-8° £BodTowh. 200 008 R0 HHAZIS B 58S dikhabo
(1) Yoseder  (2) L dsvdre Nogndre  (4) B sinires
4 4

9



44,

A 25 digit number is such that its extreme digits are same and all other 23 digits are same
but different from extreme digits. If that number is divisible by 11, then end digit can’t be

&8 2S5 wo8en Ko K)oa)sess D56 8$0 ©08en HErKOrT dotman, HADS 23 @o8en SSedsorm dotar D50
§'J0 @S0 Hjore dotran. & Sowg 113 erRod0lE, D56 wod &K ©08

(1) 9 (2).8 . 5 (4) 4

45.

Let G be the GCD of three numbers 3,780, 3,465 and 3,003 and L be the LCM of 3,465 and

3,003. Then —2— - o)
33G

=
3,780, 3,465 50t 3,003 03 s Sopge 1. 3. 27 G0k 3,465 %005 3,003 08y E. 3015,

= ity | _
65 (2) 780, (3) 455 (4) 429

-46.

1 5
Ifthe sum of the fractions 125, 103 isxand the sum of the fractions 7;;'-,17‘;— isythen x—y =

1 .
123; 10% o3 Hdwe o x HOE 7%,1—:— ©3 P00 Indo p@ond x—y = A

(1) 14+ @ = ;3(13% (4) 14% b

4 14

47.

25 (2) 27 3) 28 (4) 32 W

If the digit in the units ;;lace of the square-of an integer is x, then the sum of all possible o

distinct values of x is
28 PTroBsn GwE) $Kos” 2,88 PR0s® ©08 x wand, xH FEHE 0 DI Desse En¥) Fngo

48.

@ (@) i1 ® T H @ b

S : %
- : S ﬂgﬂ_* kg o, TS

3 127
{{/-—2197x{f—125+ m} +3 = ,_\} x -;E A

) - 3
5'\//;’/& ki - Q; |_ L

49.

If x is an integer satisfying the equation 9x** 4+ 9x™*” =82 _t}li;e_n V12 + 2\/; =
x 036 9x*7 +9x72” = 82 ©F SDBBEEY) S $63 &8 :’..;;og::owg@c»é le +24x =

(1) 1+\/ﬁ 3+\/§ (3) J§+,/§ (4) 2448

50.

The set of all perfect numbers and twin primes among the numbers 1,2, 3,4,5,6,7, 8, 91is
1,2.3.4.56.7.8,9 50&)503563 S0E Somgen HBA aSoiy(B50 ) BEPS SopzeRo8 $Hd

(1) {1,23.457.9)(2) (134579 (3) (34579 {3.5,6,7)
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51, Identify the venn diagram which best répremnt the relation between triangles, equilateral
triangles, right angled triangles, isosceles triangles.

Bebessimes, Siommio Btbesine, 0ot Bihasne, S Bthaiie S Sonop Ry irded

SO BS B oBood.
¢l 2
=@

52, Aranks 13" from the topand Branks 17 from the bottom ina class. Ifthe rank of Cis Sranks
below A and 5 ranks above B, then the number of students of the class1s
e dorad’ Aol uaagm‘apm Bdob ol 1?53;:.»0&';’::-@. Cangyrio A8
5 Spipen BI0E D0 BS S Piren 2058 doll, & 611060 Dergo Sowy.
39 (2) 29 (3) 19 (4) 30

53. In the following diagram, if triangle represents Cricket players, circle represents Football
players, rectangle represents Hockey players and rhiombus represents Tennis players, then
the difference between the number of players whocan play all the games except H@_@Fiﬁﬂd
the number of players who can play all the four games is equal to

4 rk P ]

(1) Number of players who can play all the games except Tennis.
(2) Numberofplayers whocan play only Tennis.
(3) Numberof players whocan play only Hockey.
(4) Number of players whocanplay all the games except Football,
D Siod® Bebeo 8385 sLmd, Sfo B85 &6 ebmEl, 8% siigo P8 wbmih foda
Seheon S0 B bimdyhiey #85) 200i sy steth siio st on, Turd
sber o sbry Souh fo Bk
(1) BN &H) HADS sl sbeeiio st Sopgh o
(2) S0 DY Sr@d eiifio s SoBS Rirlo
(3) S0 srh adiio st Sou S Siro
@ o ] ﬁjm;& &) sben sty SO Sopgh iSirdbo
11
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54. A, B, C D, E F are sitting around a eircular table in a plurk. A a!‘lt'i :;5;;1 i’-:;ri thﬁ
centre of the table and the remaining are facing the dlmﬂ'-l?“hﬂm’j?m Thetis i anly Iﬂm.*
is sitting second to the left of B, F 18 sittl:'l mtz?;:nil l;;;:; Egh:aur = :
person between B and C. Then the person Sitling , ‘ R

Eﬁﬁ?ﬁéﬁnﬁ‘ﬁuéﬁ'@:ﬂum& B.E.D,E.Fmgwﬁ‘&nwp.ﬁwﬂcﬁﬂuagénpuﬁ
uﬂﬁmmmﬁﬂ.mmﬁmwﬁg gﬂdﬂﬁﬁ;ﬁﬁﬁmﬂw;ﬁaﬁrﬁs' . B Ot 353

85,3085 S8 D. A8 A 398 ey B0k 55 F. B, Cib S L i e sod Fg

HE JSPHT s, A r ;
: 2) b 2 ped rd{d} d one is at th
55. S persons A, B, C. D, E are sitting at the corners of square shaped garden and It I8 50 Hie,
centre. Aisadjacent toC: B, E,]}agra noton a line; A and D are equidistant from C; A, E, Dare

noton a line, Then the personssitting at the cornersare

SR 65806 4 H0,8 b Aron S50 K E* STt e A, B.C.D. Een grtamih.
A5 Camyb, B,E, Deve S0 ;A B0am Do Chiin ol e A.E. Deses
Sup 86, 65 5038 adhes oo S SERTO
_ () acne (2) ABCD (3} B.CD.E (4) B.ADE
56. A goes SO0 metersstraight from his house. He turnsto hisleft and walks 1 ke, He then goes
1 ko after turing o his right to reach his office Ifhisofficis ogited North - East

direction from his house, then the direction in which A started foving initially from his house
and the shortest distance from his house tohisofficeis
1)  South-East, 2 km ﬂ North, 2 km
East, Jskm 43" West, Jskm

8:5 50 ool Adtore S00 Dokt & Sent S8 NEHT0 B% 80N 08D 1 8. 0. 56T, 8 Shd
Eﬁﬁﬂﬁﬁ@ﬁ&ﬂﬂwﬁt‘a]éé.h.ﬁﬁﬁﬁmmm,mmmﬁaﬂm
ity BIS® doB, 85 mol ol A @rdodost & 46 nubundiot & &Y B 5 solibol 83

Soyedinis fo SR irdo.
(1) efgbe,28.&. (2) a#bo,28.5.
() drsy. 580, (4) weis, 585,

ﬁ, 6 Students S;, 8;, 35, 54, 85, 8¢ wrote an entrance exam and the following is the information
regarding their marks. Sum ofthe marksofall is 1000. §;gotmore marksthanS, but lessthan
?i,sigutthe least marks among them. 400 marksisthe highest mark and 60 marksisthe least
mark among these six students. The position of the student having highest mari-:s_isl;l‘,and the
position of the student having least mark ie 6. 1f8, got 400 marks, $o's position in the list iz 2%
from the last, the average marks ﬂflastiisludentsié?i}the n the total marks uI'IS: and S;is
61 Bt S1, Sy, S5 84, 50060 Sy 0 2.8 ¢34 988 e inte, 90 K Sootiolis Do
EVD5S sl sl drdho Sado 1000, 8,8 308 Srdye S, %08 265 £ 8, o 895
M&%Mpﬁmﬂﬁﬁwmﬁm&p 400 B B0 Srthyen 60. 1988
Srdoye mﬁ E&u ! Mﬁmamﬁmﬂ; IR 20 6.8, 400 8rnyen Brof, 8,056
o 8ot .ﬂéﬁi’m"gﬁm‘”m&p@m 95 wond, 83000 S, v 3o Siryen.

(1) 225 (2) 185 @ 315 (4) 200




58. Each statement is followed by two arguments numbered I and IL Decide which of the
arguments s a strong argument and which is a weak argument.
Statement: Should there be blended learning in 2ducation system ?
Arguments: 1. Yes. This method allows students to work at their own pace, ensuring that
they fully understand new concepts.
II.  No. Possession of electronic gadgets in classroom and access to social media
diverts most of the students from the actual concepts and lessons.

Only Lisstrong. 2) OnlyIlisstrong.
,,3 ) Both I'and Il are strong. 4) BothIandIIareweak.
28 PHSS0 Job I, IT e S55208% Both arpisden dotrow. & B30 DB DOPSE’, DB DotPSRSE
QBanozed. E4E
S

BBSS0 1 DeegSSHS® 0Bk BBYOR dorseNsAT ?
TESen: I o0dd. & 558 8 e Grom eSS TS 5Rd B I, D
TOPoNS® RN e R0d.
IL seeh. B8K8KBE dogdE Bk SO dotibo 9, D525HS DBSSr Boddotiwo Ho
©3) TPer Hobd Qg 68 oS S, oo ol TR HEB HE)RRon.
(1) ISr@d oD (2) I Sr@ad oodDI6
T:50a5 I en Both 20 s (4) Ty e Sotd 2elri@sd

59. FEach statement is followed by two arguments numbered. T and II. Decide which of the
arguments is a strong argument and whichisa weak argument.
Statement: Should there be high level of violence in films in the name of entertainment?
Arguments: I.  No. Exposure to high level of violence causes behavioural changes in
human attitude particularly in children and youth there by developing
criminal thoughts inmind.
II. Yes. When the story demands the film makers have no other go

Only I isstrong. (2) Onlyllisstrong.
(3) BothIandIIarestrong. (4) BothIandIIareweak.
H8 5550 Joto I, IR Soeedsd Sotd arsen Gotro. TESOE DB noPHE, DB polrIBIG’
Ngowoad.

5580 : 9FBoHEs® dYEPOS® tros wEHE Fond® PYeItISt VeTatn
TESen I 5. w808 Fand® i) oS & ST SSI8 Trdose Srss3wds®  Swwgore
Does HOH dndd Jw0S” ESYS SEZS Srtnensten hkotran. P $9 &0
$058508° B8 &S InBSTeon.
11, 6%, Ki5% o8558t oo 30 od aokid.
(1) IdrgdooDI0 (2) 11 Sr@D poDS0 |
(3) 1080 [Len o 2oDI (4) 10050 ITen BoH wedrSHSD

60. A Person facing West moves 3() meters towards West and then moves a distance of 80 meters
North and later moves 30 meters towards West again. The distance of its final position from

the starting point is
(1) 90m (2) 85m £3) 100m (4) 105m
Do By Sy a8 S8 30 oty H508 BHH SED TR St 80 Dot 6380 FHRHIED Roe»

30 8eathy HESBTE SBI. 80l VO 008 %5 D58 To¥x) FredS ot o tedo.

(1) 90%. (2) 85%. 100 &v. (4) 105%.
A : 13
fa 11:_____ S s \} Lo !a-ﬂ
= el EL\VQ o

o

\



61.

:+ ig followed by two

- is given and 1t
In this question, a statement which is to be taken as true 18 g " (are) i
assumptions numbered I & II. Decide which of the assumption (s)

statement. “Every

Statement: An instruction on the hall ticket
candidate has to be in the examination ha
d.»

commences, Not even a late by 1 min is allowe
: atan
Assumptions: 1.  If not mentioned in hall ticket, candidates may come to the exam y

time as per their wish.
II. In a Competitive examination, every candidate s
chance of writing the exam so as to filter the meritori
(2) Onlyassumption 11 is implicit.

(4) Neither InorIlis implicit.

for a competitive examination 18
11 before the examination

hould be given equal
ous students.

1(,1’) Only assumption I is implicit.
(3) BothassumptionsI& Il are implicit.
& Bob H¥16° DD rDoBLONS ¥ 5550 TR Bowd Both FrHHe SR, D FFEN ()&
DBS506° wASE® /oSS 1980808,
BSSK0 : 0.8 DB HBY G, S B8 D Ko Krisd 8P Hod. “$65 BoBeosHEIS $008 8 oD
HO¥ KOS® BonrD. 2.8 DndEn o) SrE° ©HBoBH ™.
grssen: I b Erchsdd, oo 0 BPHFE0 D $EOPENS FS HOKH S
IL % & $65S° 08 Ko oo SESHO8 58 e:aig,ﬁé HBE Eraded8  $ErE
©SsrEo 350N dotnob.
I @D oA @od (2) TI&rEdoeh ¢od
(3) I, IIenBor oeh damow (4) 18oe 2B TeA G0l

62.

In this question, a statement which is to be taken as true is given and it is followed by two
assumptions numbered I & II. Decide which of the assumption (s) is (are) implicit of the
statement.
Statement: = The national education policy brings major changes in the education system.
Assumptions: I. Present education system is not supporting the needs of the nation.
II. Present education system is teacher centric.

(1) Only assumption Iis implicit. (2) Onlyassumption ITis implicit.
(3) BothI& Ilareimplicit. (4) Neither Inor ITisimplicit.

& Bob ©¥6° QD rDoSBORS 2.8 B350 D Bowl Both arEses Sokrow. & PSS () &
BS80S rASE’ /orASS 1HBoS0d.
@550 : DomgBoriod” erBed Doy Do BES ety it Sx006
S : I OF o550 B8 Oy derdo 8500 8 @uE

II. &erycsntd Sogorr Lm;es Qg ;5355;5 59 3@605 6155

'y Esmmninion (2) H&ErgHoeneod

(3) I IIenBotkr moh emom 180 IIO8 oA dotieh

e
14




63. Directions: In this question a statement is given followed by two conclusions that can be
derived from the statement either directly or indirectly or may not be derived. Which
conclusion (s) follow (s) from the statement ?

Statement: One of the prime ministers of India said, “Wastage of anything is crime.
Wastage of food is double crime.”
Conclusions: I. The issue of food wastage is of high importance to fight hunger, raise
income and improve food security in India.
IT. Food wastage is morally wrong because there are many people who are
. hungry simply because they have no food.
(1) onlyIfollows. (2) onlyIIfollows.
(3) BothI& IIfollows. (4) Neither Inor II follows.
Srisen : & B8 o8 Ebiito Dowd Bowh bovmen akprran. 59 © ESilko Hod BEgor S
56°gore 53 Boraren 505 Boe @550 08 59 Somres SERFSS). O Sormren ESENND
©IBREr HBokod. : '
GoS%0:  TBEBE0 gy e¥ HrD ey, “BAZT Sy Do So. eFTR Hypr dbiio
3803 o, .
booyrer: 1 080806 50D monoitost, straird) Dotod® ban eiFs EsD
205K08® 8ol Hmr Schtio oF oo ToEPSIRE 89 6ob.
I efoR) S o oln P8 Shp Jobsol 6o B sSmorr
PP 08 [Dazen ST,
(1) ISrEDedso00 (2) IErgd o800
@ 1& ITen Botir &:k0Row (4) I& IlenBotir @RB0SH)

64. Directions : In this question a statement is given followed by two conclusions that can be

derived from the statement either directly or indirectly or may not be derived. Which
conclusion (s) follow (s) from the statement ?
Statement: ~ ‘Marriages are made in Heaven.’
Conclusions: I Itisadivine powerthat ultimately decides who should marry whom.
I1. Marriages are made in heaven before the couple even meet on earth.

(1) OnlyIfollows. (2) OnlyIIfollows.

(3) BothI& ITfollows. (4) Neither Inor Il follows.

Smisiden : & BHE® o8 PBiso Soad Totd Somjren sifprron. 59 & ESSSo Hob HEgerr Gia
356" ore %) Soeyres i) Soe @HE80 %08 $03% Somyren SEFBD). D Borre BHSHEN

BB oo,
PSSt0 . ‘Darsen ﬁ;,téoée aytrhaErow’.

[E¢5E
Bovgren : 1. % 250 Daprirees” ©o8Kor MWanold &b FHE8 b
L 8. es0t> 8 B Sos¥iinod $ 506" 0 Daries 20A dotro.
[5r8 0oR000 (2) I&m@dD es0508
(3) 1 IlenBotir @XHOLTON (4) 1& IlenBotir o8003
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65.

. . r the question
Directions : Decide whether the data provided in the two statements given unde

is sufficient to answer the question or not. Given option

(1) ifthedatainstatement Ialone is sufficient to answer the question;

(2) ifthedata instatement ILalone ig sufficient to answer the question; o

(3) ifthe data in both the statements 1 & Il together is sufficient to answer the ques mn:
[(4)) ifthedata inboth the statements 1 & Il together s not sufficient to answer the question.

Is thl_% product @\}\an irrational number ? { @

I:  xisanirrational number. i

II:  yisanirrational number.

KomiSen 1 85 (BHHBI0BS By Toth PSS’ 68 Sirrto & HHD SETTRY B8RS SRS’

Sl Ngawosod. :

E00 B850 T G50 Himanbo SrEsad B SEPEEED a8 $nsE8 (1) od;

500 B850 1L 6% Ssimarbo Smisah B0 SEPTSn 5508 $AS38 (2)oN;

G550 1 & I1 0650 $Emarto S8 HHH SEPTSsn 5508 $A538 (3) od;

B55%0 1 & T Ssimarbo SOBR B8y SEFFssn ol SNS0s 58 (4) o9,

b ©D)y5°Q HB0S0A.

080 xye 588D Sony wHome? :

I x o8 55dah Sops. lg%%

II: ye$8eiah Soms. A

66.

Directions : Decide whether the data provided in the two statements given under the question
is sufficient to answer the question ornot. Given option
if the data in statement I alone is sufficient to answer the question;
(2) ifthedata instatement ITalone issufficient to answer the question;
(3) ifthedatainboth thestatementslI & 1l together is sufficient to answer the question;
(4) ifthedatainboth thestatementsI& II together is not sufficient to answer the question.
What is the perimeter of the circle ?
I.  Thecentre (0,0) of the circle is at a distance of 5 units from the point P (3, 4)
II. Theimagesof P with respect to both x-axis and y-axis lie on the circle
Smisden : & ©EDIODD BDyd Soth BHSTe &) HErTE0 8 HEHH SErrrard) abEeds $ASS
56 Sgcmoeﬂo&.
B00 PBSK0 I 650 Smarso SrEad 4% $srersin s8s 538 (1) ©d);
S0 B850 6% SSPTrE0 SPED HHD SErmrsin adwmOs $A538 (2) ©d;
B5550 1 & o6 S50 T60 80D HES Sirgrkin a8 $AKEE (3) od);
©5550 1 & 06 Sie 8o SDRRP 586 Kiirgrissn s¥iml8 SASISSEE (4) ©d),
8o 0)5R) B0 S0k,
B8 508 08 ?
I %8300 (0,0) Dot P(3,4) 508 5 ey 06 d08
IL x6c yogeo 8y3s P o) 8fowre 803 dotro '
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67. Directions: Consider the following information and answer the question given below
For the selection of a manager in a company, the following are the conditions to be satisfied.

A Candidate

(a) mustbeagraduate with a minimum of 60% marks &

(b) ason 1*July 2022, must have less than 30 years v/ E5E
(c) must have at least 50% marksin X class 0] 5

(d) musthavea diploma /degree / P.Gi degree in management &

(e) musthave minimum 1 year work experience. ./

In case a Candidate satisfies all the above conditions, except

L (e) above, he must have 60% and above at X class and P.G degree in management

II.  (a) above, he must have minimum 2 years of work experience.
If any information is not known, then such case will be referred to CEO.

Mr. X was born on 15 August 1995, and has graduation and P.G degree in management. He

has 1! years of work experience. During his academic career from XI standard he got 75%-

markg. Then Mr. X

(1) Canberecruited as manager

(2) Cannot be recruited since only one condition is not satisfied

(3) Cannotbe recruited because he does not have minimum 2 years work experience
4)- Will be referred to CEO :

Brsden 1 & 8o VST & Bob HE % warm a5wR8 5680008,

2.5 Bond & Db 9 XS ETed8 & Bob daEren Sy SETO.

&8 gl

(a) %80 60% Srtnes® H56aEha dowd

(b) Sk July 1,2022 706838 30 SoSores™ 4omd

(c) 5558858 50 50% Lrdnen EOA domrd

(@) DIZpols & BFsr /decoio(degree)/ P.G ey 89 omd

(e) %0%0e8 o8B0 HRS® edbedo dored.

&8 o0 I DI 83D 50D ‘

L () 80058 28, 555 861586° 60% 85 008508 DS drtyen HO DIZ8 S P.GHer

S8 Gowd
IL (a) 9 8,2 HB5% 28, 0818 EVB0 28058070 D) wdyHo domd
&8 oD sy D DSToED BOIEDB, ©er08 ©ES CEO $ogBos Hobathod.
Mr. X o5y 15, 1995 & et 0o BBt & Beots ot EBatn P.G HEP Srob ey, w88

1 oo 50 oo dob. XI 8518 $08 08 domyiisos® 75% drdnes Srom. epd

Mr. X%
e e Q0HDOSEOS DEHD)
(2)  ed e oo b BESEH EHS RESGH

(3) b0 2 BoBd e H0 ©BYH s 658, DS
(4) CEO#So@fois Hodawd
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68. Directions: Consider the following information and answer the question given below :

For the selection of a manager in a company, the following are the conditions to be satisfied,
A Candidate

(a) mustbeagraduate with a minimum of 60% marks ./~

(b) ason 1 July 2022, must have less than 30 years ¥~

(c) musthave atleast 50% marks in X class «~ EfE

(d) musthave adiploma /degree / P.G degree in management,./ =
(e) musthave minimum 1 year work experience.™

In case a Candidate satisfies all the above conditions, except

L. (e) above, he must have 60% and above at X class and P.G degree in management

II. (a) above, he must have minimum 2 years of work experience.

If any information is not known, then such case will be referred to CEO.

Mr. Y was a 1% class student throught his academic career and completed his 25% birth day on
2" September 20 17. Prior to applying for this post of manager, he worked as assistant

manager from 1*July 2018 to 3™ August 2019. He had a diploma in management from ITM.
ThenMr.Y — - :

i ~12

,(4’5 Can be appointed as manager it H s
(2) Cannotbe appointed as he is above 30 years of age , o

(3) Cannotbeappointed as he does not have 2 years work experience Ly

—(
(4) Canberefered to CEO , W Vi
BrSen : & Bod DBTeD & HH% warm 558 H68D0S08. i Y
2.8 500 &° HFasb D D858 & Bobd DHiiren &) DETD. B B
a8 &93559 \

(a) B2%0 60% SrEnes® s sowd

(b) Sy July 1,2022 re38 30 RodEres®H domed

(c) 55 SEKOS* 8D%0 50% Srsoyen EOR dored

(d) DIBpe & Ao /588555 (degree) / P.G DEP ED oD

(e) BD30 8 H6HE B0 HAS® ©%resS0 Sowd.

28 0 39 DAYBY )% $69

L (&) R SRDESE G, He55 $8K8S° 60% 88 evostos B Horbnen HO» HIBo & P.G
BeP B5)E o@D

IL (a)d &yl D838 D8, 0808 810 2 S0k 00 HD €80 Aomrd
e¥ o Y IFT ST BOHEDE, eerod 0538 CEO Soddohs
DodatHEod. -

Mr. Y 039 Hoegiso8o6® aspir Snse s5K8 DR SR HBA W06 2,20175 255 28

&2 (00 Botonyth. 8 HIesb asfyros OYPosTeIE Ewoth @8 6D HIesb e wnd 1,2018 S0

B 3,2019 555 HTeeed. [IM 508 0598 $33,065° A ob. P Mr. Y

1)) HBece deoDosHin) |

(2) 528 3050580%0 DS G000 Ei5E FhBaoe DeHDoSBLS

(3) 2Bos8 ore ©biHo Bth E8 3)3230: Dc5D005BD

(4) CEO&0oBod% Hodsih)
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69.

Study the following information carefully and answer the questions given below,

There iz a family of 8 members w D is the grand-son of F. G is the son-1n-
law of C. F is the mother of B. A is the wife of B. H is the daughter of Cand mother of . E is the
daughterof A.

Who is the father of D ?

Bob KrPOYPAET S0 8 Bos ads @b aTwhE0l.
A,B,C.D,E F, G, Hed 8508 fghpn fio .6 ttwono dod. F @ty 550 D, Cand septh G. B
Gy 80 F. B, or; A. C Gy Sy oo D oty 30 H. A Gy Sr st B

D sy dod 258 ?

(1) ¢ (2) B (3) D e

70.

Assertion (A): Antibiotics do not treat the Corona infection.
Reason(R) : Coronaisavirus; notabacteria.
Choose the correct option from the following:
(1) (A)istrue, (R) is true and (R) is the correct explanation of (A).
(2) (A)istrue, (R)istruebut (R)isnot the correct explanation af A Y
(3) (A)isTruebut (R)is False
(4) (A)isFalsebut(R)isTrue
D880 (A): dirolodir8h) St wottiiubRdbo Sabd.
E‘ﬁﬂﬂ{ﬁ): gﬁﬁﬂ‘ﬂéﬂhﬁﬂﬁﬁ,v@d&n?ﬁ}
& B0l 6" ool 50 wowd BEroEND dott ol

[ (A).(R)eowzinen 508 (R) 53 (A) 3508 s
(2) (A).(R)esSdzne of (R) 0t (A) S50E0 Sile s
(3) (A)ssosb(R) s s
(4)  (A)sdgn o = (R) S

1.

Six persons P,, Py, Py, P, Ps and Pg live one on each floor in a building having six
floors numbered from bottom to top. Py lives in a floor immediately below the floor of
Py, Py lives in the floor immediately below the floor of P,. Three people live between the
floors of Ps and P,.IE does not live in the top most fleor)P, does not show interest to
live on any floor below the floor of Py P's and Py live on the even numbered floors. Then
the peraunﬁll_"_} ﬂi_ﬂ._i’_.}re:spﬂlively IivE-in the floors.
Bols ool 28 108 6 S8 wodiw fo §ided® ettt §e Py, Py, Py, Py, P bain Pyen
2 S T Dby, Py Ay woliD b Joud Sof &) eodLS’ P, dotrid. P, &)
oS 3 Sobd Sotf e eodie’ Py sotrlh. Pybbaly Py &) wolihu S50 Suibs
S DShpT. elpolim BN asy soBid® Py Dhodth. P, o) sodid So &y O
soBE domnd P, 638 Sesh, P0a Py e #8koy; e wodiped® Dby, s Py

Mﬁmmwﬁ@uw

[ s&1 (2) 3&S5 (3) 2&s5 (4) 4&s
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72.

Read the statementg

and mark the correct answer.
Statement I :

The prices of petrol products have increased substantially during the past few
monthsin India

StatementIT: The prices of many goods in India are increasing now-a-days

These statements may have a cause and effect relationship or may have independent causes
or be the effects of independent causes.

&1)  liscause andII is effect
(2) IiscauseandTis effect g
(3) ILIlare effects of independent causes i
(4) I, Il are causes of independent effects
OESTOD SO B@S Hirrea) HBODHD.
OIS0 I:  er58 8506 18 ) Awenr, DSen dyhe Ses Keadathorm BB
BSISOIT: & ot o0t s Bos® e SH Fen BGOSR o.,

& DS S8En 5865 Berido ©F Sonotrd) $OA Gotsisy Bor Ko Setme i e
DB e Hararen o550y,

(1) IswSwo gerso
(2) Hedemo I &erso

L, ITen Both 5o sebeme ghaparen
(4) . L IlenBoth $esos Serare soepen

73.  Ifthe English alphabet is coded with numbers from 1 to 26 starting from the last letter to the
first letter. A meaningful word is hiddenin the codes given in the following options. That code is
80l $Lr0s® vEtre spb ©X80 %08 B e¥do B8 1 508 26 555 Ko Somed® K80,
AR & & S 8
Eod 30y 0 5ed® 193 st SR &8 0BB50ERD B0 A §0B . & 10HHEo i
T oy L N6 @ - P A o P2y A S
(1) B218-22-14-11-15 wedt% 2) 11-12-13-23-2-26 Y
.(3) 87-6-14-2\36° wuitv e )) 8-18-14-11-15-22 W&
T Ig S
74. Assertion (A) : Now-a-days, knee pain is a common complaint. Knee replacement is a boon
- for such sufferers. e
Reason (R):  Necessity is the mother of invention. A\ - S o
Choose the correct option from the following: - 2(";: €5
(1)  (A)istrue, (R)istrue and (R)is the correct explanation of (A) p—123 . %
(2) (A)istrue, (R)istriebut (R)isnot the correct explanation of (A) G;:_‘;:" Y
(3) (A)isTruebut(R)isFalse e 0t
(4) (A)isFalsebut (R)is True _ 15 g
NB)ES0 (A): & 8erd IrseD T Persen Yiowgthr wer ents SETE8 Frsed 588 2.5 $80. o *?
80 (R): @580 )8 89 So8s. T 1§ :’: i
&3 800 T8S" 508 H0 NS SEPTFHB0DH ool T- }t 5.
(A), (R) e S55i0en 50605 (R) 036 (A) & 56008 9585 it
(2) (A) (R)eo 380w, 50 (R) 678 (A) % 56005 956w 526 -
(3) . (A) g0 50 (R) $5s0 50¢% J—13
b b R) 58w o—I[v
(4) (A)ssgosd=d(R)sE i
A 20




75.

e

In a code lnnguage, "Mathematics improves Reasoning® i coded as ‘du my vu'; ‘Rensoning
improves logical thinking' is coded as [:i:“ lu(du ya* amd “Logical thinking improves common
sense is coded as 'ma ya du o ta’ then in the same code Im-mgu.uge ‘Mathematics Improves
logical thinking' iscoded as

=g 5°€ 06" "Mathematics improves Reasoning' #% ‘du mu vu' of); ‘Reasoning improves
logical thinking' & “vuludu ya' &8 ‘Logical thinking improves common sense’ 5 ‘ma ya du lu
ta' 6D S8 3% o888 oi® ‘Mathematics improves logical thinking' % 8°E Ehsipb 588
(1) vulumuya (2) tayamulu

@ dumu yalu (4) mu yaduvu

76, In a certain code “Write exafn wll” is written as ‘Im ¥’ o', “All i€ wéll” is written as ek

:i,f!Pm' "F"‘?(" i€ casy” is written as '}ﬁ{wk‘. Then using this code “All write exam well" is

writtenas " 3
o8 B°E ' “Write exam well” 5o Im rs ek’ e ge @ “All is well” B "ok jp pm, @G
“Exam is casy” 2 18 jpwk'e @5, 6 U8 gt “All write exam well” £ @8 S50

(1) ekrsjppm ]@ ek rs Impm
(3) wkiprspm - (4) . ekrsjpwk
77. Choose the correct alternative from the given ones that will complete thesenies.
CX,FU,____.LO o\
a0 8ol CX.FU, ____, LO@E0dodrgo ShRo@salmfdiySiel.
(1) HS (2). IR (3) 1qQ IR

78. Thelettersof the English alphabet are coded as follows:

k' Jotter of the alphabet is coded as

(i) (ke17)*letterwhen] k=9

(ii) (k-1)"letterwhen10 <k < 18 %
(1ii) (k-18)"letterwhen 19 Sk =26

For decoding reverse process is used.

The word that is coded as GAURD is

sor gsirustn ofme 6 Sob Mo FE TS, kS ofos FE wgdo.
(i) (k+17)Segbo,1 Sk S Huoniltd

(i) (k-1)Begco, 10 S k £ 180aild

(iii) (k-18)Begbo. 195 k S 26 s :

S, S8 5,384 558 SBoD.

GAURDr 5 orchndd 8o
(1) YRCQU YSDAV (3) XRDPV (4) YSDNA
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}in the following al pha-numerie series?

79.  Whatshould come in the place of question mark (?
808 w¥8 Sowr; Jibet 54 @@{?}Qm&mm&ﬂﬁﬁ;ﬂ*pﬂ? %
B3ELSG.ETK.G11M.2
(1) Misq (2) K130 @) Ki3Q R

80. Choose the correct option which contains the letters that are tobe placed in order in the blank
places to have a complete series '
B0 Sotrio Babrm08, irhus® St a0l i @ Komes Mo S0 ol HyFod.
ZeTENKHEB +F ®%
(1) X.RE (2) W.RE W, Q.E (4) X.QE

B1. Pointing to a man in the photograph, A said, “His daugther's mother is the daughter-in-law
of my father”. How is A related to the man?
(1) Sister-in-law (2) Brother-in-law (3) Spouse f4)  Sibling {J
&8 PPN 8 A0 Srbiie A v sid. ‘S50 Srikh Gud; 80 o Sof Gt Pe e 588 A"
&° e Somodo.
(1) =63 (2) s (3) dosapndm  ((2) Swu

82. A is only daughter of B, C is husband of B, D is father of C and E is wife of D, then A
is related to Eas A
(1) = GrandSon (2) Daughter-inclaw (3) Uncle (#)” Grand Daughter
B Gty 238 £rdeth A, B Glng) 65 C.CaE) So D %8¢t D @uk; o5; E. edpih B A& e
Honolo,
5 B (2) e (3) wwre (@) sssew

§3. If'B menna‘+‘.‘D"mﬂans ®' Q" means '+ and ‘R means ‘~' then 23Q19R24B2D3=
‘B ool '+, Dol x', 'Q ol ‘+ &b0fy ‘R wol '~ wand 23Q19R24B2D3=
(1) 22 @) s (3) 12 (4) 17

84. Thesymbols used to represent <, #, », >, <and = are respectively A, B, C. D, Eand F. Consider

the statements PAQ, QFR and SER. The correct implications from given statements are
,# #, >, <500 = 0BG A, B, C, D, E&bain F s Srdoomb. PAQ, QFR 8% SER &3
Bdroh $080oSol. 58 SIS eRol 58, 185% boyre

PDS, RCFP (2) PES, RBF (3) RBG.PFS (4) PAS,PCR

85.. A series of fractions that follow a definite pattern is given below. Fill the blank space by the
correct anawer from the given 4 options 14 complete the series without breaking the pattern.
Eot ulyS Dagen 2.8 Blnlidons Delrn, Sdiamon. $4,5° a0 b, 80y Featd o050
Food B0 sond aireil SIRED 85 Bk Hetsent doro Seritiom i fotod,
! .E_ﬁ .I:-.?l El l{'ﬂll ! E—I—E ?
2 5 10 17, o 37
125 2) 8 125
A
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¢ 1 9
n o 931G
~ /S ,{'
86. Choose a term which bears the same relationship with the third term as the first two
terms bear.
Bt Botd STre ot Derot Komotsinots erold Sonofrd) Srds Hi5o8° SDNS Hurd) JkyE'ol
Stag:Hind :: Ram: v
@ Ewe (2) Hart (3) - Earl (4) Heifer
87. Choose a term which bears the same relationship with the third term as the first two
terms bear.,
Fes Both Hrre s Dol KomotEnots eerot SonomRl) S Hisod® EOAD SRRy A5ys°od
OPQ:PRT:FGH:
(1) GIR (2) GIL (B) ax (4) EDC
88. Select the related number from the given alternatives.
- B0 BEessrycire $od SowolE Sopgh a;&g_gso& OP0)
it 444 :21::964: . &
@) » (2) 41 (3) 24 (4)" 29
89. Four pairs of words are given in the options below in which three pairs are alike in a certain
way and one is odd (different). Choose the odd pair. '
BIH% 00T OS® B Teord e Hres® drd wden .8 PR BON aTyow. 288 DHorr &od.
DDKy0re ad) 22885 Dxinys°ol tLy
: Y
(1) Short:long (2) Light:Heavy @/Crime :Blame (4) Poor:Rich 1F,
, P SV &= ,
90. Among the given numbers 131 ,15} ,161,181,191, one is different from the others in one way. It
is \:4 R IT_;
50y Howge 131,151,161,181,191 06 2,563 210 838 HPNyore dotnod. &b =71
(1) 131 @) 181 161 (4) 191
91. Choose the oddoneout of the four options given below.
& Bots oy eentd @), o ADS ¢ ol DPSor &) AR &ysod.
(1) V21T (2y) N(5L (3) I8G (4) E4C
92. Choose the odd one out of the four options given below.
) Earth (2) Water (3) Fire (4) Environment
0B andyS Teord nsres® RO T8 $08 JPJor & TP &SPl
(1) o= ), .56 ofy (4) Horgssmo
93. Choose the correct option whose group numbers follow the same pattern as that of the

pattern in two groups of numbers given in the question
BE6° aDyS Botd Komg SriFes® Sowse BT E&md) 308 Somgeoid) D) oS

.XJJO&&)E&)&E!GO&

' 11121511075 157225:210:

(1) 9:81:70 (2) 19:3{6311:342 (3) 17:288:272  (4) 16:225:239
23



94,

If a cuboid of length 81cm, breadth'27 cm and height 9 cm is cut into 729 smaller identical

cubes, then the length of the edge of each smaller cube is

(1) lem (2) 3em (3) 9cm (4) 27cm

8130, . 0 KD, 27 20. . © Ben), 9 V0. .0 I o 2.8 Y ooy 588 DEPSOrT &y 729 0%
DT DAY 0.5%%) $oiso Gws) woid UD.

(1) 1%0.5. (2) 3%0. 8. (3) 9%0.5. 7?00- .

95.

A Solid cube of 4 inches edge has been painted with red, green and yellow colours
such that each colour appears on a pair of opposite faces. It has been cut into one inch
cubes. The number of small one inch cubes' that have only one face painted with red
colouris

A v

4 ©orhEre ©oihH Kol KE His s, AT EnpEned O, BHDE), DOY Sorben
350889, 1 sofbEo w0 Ko %) BoS0ear & Ho5sn poloTh. 8.8 ¥ Eopiing DY Sord
BOAY 2.8 ©0rHEfo Hodsme dowg.

(1) 16 24_ (3) 8 (4) 32

- 96.

@ | OO " elle

Select the pair from the options that has a relationship similar to that in the pair
labelled (A).

28 (A) %% Sonodo erod Konomrd) $DAS aEH ndsee ol Jinslod

e

(A) B4E

JoR  -00 '

L

97.

All the faces of a cube are labelled with I, II, III, IV, V, VI one on each. The 3 positions
of a cube are shown below. The face opposite to face containing I contains :

e i Gty o) Sopiiven BHTIP a8 K 8 I, IL 1L IV, V, VIS 1580850859, & o
%) 3 Difoen & B0B HEVOE® SrGnlsD. 198D a:sammm BT ol 0wt dodd

I ] \
.2y L 1V T |V \6 v

T —

() v (2) v (3) I (4) v g w2
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98. Figure (A) is given below One . .
; - part b gl \ mine
T of this figure is missing. Choose the missing part

$000 (A) ol 255808, & Herost
' D e gro evd issing), @ eoi & Bots B0y
ol DO 008 AHySod, &R0 et (missing). @ e g & Bol &l

Fig (A)

(1) 2) \

(&) @)

99. The total number of squares in the figure giveﬁ below is
& 8ol 2dyS HLENE* Bndo SRR Sowy.

(1) 32 (2) 42
35 ) (4) 45

r is placed on the line MN, then the option among the

100. In the question figure, assume a mirro
answer figure that shows the correct imageis

&%) Heosws® MN 3w o towro 05508, O & HLED DY) SO H8Doao L0

maﬁuésﬁéeaa’m. i
=
o |<AN @ |7y
(3) AVB - @D |-
IS e et

>



101. _ isexpected to host the summit meeting of Shanghai Cooperation Organizationf in2023.
(1) China v India (3) Kazakhistan  (4) Russia
2023 &8 a3y roR 3 &° wH0RS SRR B Srdaren &P tisiod.
(1) e . 85 (3) %8S (4) &avs

102. The Election commission has announced polls for Rajya sabha seats that fell vacant
between June and August 2022. -
238 %008 o1 2022 56% 7R wowS T D% adye 84S §00R @EBod0b.

(1) 47 (2) s2 57 (4 62
103.  measures output insectors like electricity, mining and manufacturing.
(1) Grossdomestic product - (ffy Index of industrial production
(3) Currentaccountbalance (4) Fiscal surplus / deficit
D538, Kioen %o, Hidde Saird Sod Sorrod® serisss  srdod. g
(1) spodhesasg % (@) rorasesps” - BB
(3) adgrerJog L (4) s St /B orden
104.. Asthe American automobile company Ford exits India, itsmanufacturing unit in Gujarat has
beentakenoverby . -
(1) Mahindra = (2) Suzuki (3 Tata (4Y .. Hyandai
arES ErG)E5 0D o) eOLS PR Soird $o% HY © D8 & &) Soied cHrS
0% 0fREE*8 $)0b.
(1) Sbrogs (2) o8 - ere (4) Bow

105. Recently, the Interﬁé‘tior}al Labour Organization (ILO) directed that there should be no

barriers to people with different sexual orientations. They should be described as
[(/I{&;TGBTIQ Peoples (2) Hijras

(3), GayPeople ' (4) Transgenders

©o8TED 68 %0 (0ddt.) Yol Heedo HHS Bohs GPEensy 88 dtnHod oFoHen
EOROSENSL0E’ Jrtn 0 ™ 488030,

258080 %y Sge (?) oo
(3). Ao (4) ©oK 5768 Sen
106. The Indian army plans to create an integrated battle group combining strike formation on
northern border and

(1) - Hold formation on western bordey (2) Pushformation on northern border
(3) Hold formation on northern border

(4) Strike formation on western border
5o8aHS ©b; TG AopsE SVGE oflf By0B0S® aBE HOPHE I8 FEHS & i
_____e;oé.}joﬁ. ° s - ¥ *
(1) 585 BOHS oG Frs
(3) G308 D0PRS” G S5
e
A 26

(2) BE830HSE HRFTRS
(2 s soimet psdss




107. The Southwest monsoon sets in first in _—
state.

(1); ‘Tenilladu £2) Kerala (3) Karnataka (4) Maharashtra
358 2aedDRTeen dnothre o
(1) Sotws _._g_d.;“goﬁs BI8pow.
. (3) . Eooed (4) &P
108. '(I'lh)e Sl;l::zz ?;EE;T;I(:Z suspended ___ covering sedition
(3) Section 128 of PG (2) Section 124(A) of IPC
- (4) Section132 of IPC
a0 s Ae NS skpd, ariis tuo S 008FR00. EE
(1) E512000)0 2E8 124(5) 05D G
'______(3) DES 1280 2D (4) LS 13209
109. TSRTCfileda ___caseagainst Rapido organization over an advertisement
1) Defamation (2) Copyright (3) Cheating (4) Conspiracy
8 5 6B & D adiso BE" Ko A S BEkRp S IVob.
(1)) w850 (2) sbss (3) 3o (4) %
110. Russia has overtaken which country to become India’s second biggest supplier of 0il?
(1) Qatar (2) Iran _43) SaudiArabia  (4) Ulkraine )z ey
S BER) 0K grES B St $8Hue 343y S Botsid Jrs06” DDA, /I
(1) »eb (2) w8 PhedDae  (4) cEawS
111. Which country become the 4» new member of the New Development Bank 2021 ?
(1) Bangladesh (2)  Myanmar (3) Uruguay (4) Egypt
mg BiSerRg0t5 ergo8 672021 &° e Sesfgiso b BEo DB ?
(1) worrdE (2) Habab (3) o &89
112. The Human Development Index isan indicationof
Xf ) Income, Health, Education (2Y Income, Health, Trade
(3) Health, Education, Nutrition (4) Income, Health, Imports
Sisss egsSyD G DS S eOR00. -
(2) wsordho, 8850, 5o

@ S0, 887550, D

(3) @55?150, DBs, Q“%Jée‘f (4) STPAdO, &555550, B0 Sen

in the month of May 2022 affected | state
(1) Andhra Pradesh Tamil Nadu (3) Kerala (4) Karnataka
2022 Bod® By oD B BT __Tgos’Esuton.

sols $B8 (2) EMETD (3) du¥ (4) o
e S .
A . 27

113. Cyclone Asani, which formed




114. Allthecountriesof - continentare membersof (i-77.

(1)  Africa (2) Asia (3) Europe (4) South America
porio 6% o) Beven B-77 & Hubgen.
(@ = (@) ohar (3) woien (4) spents
115, Thomson Reutersts
%1) Canada based (2) UKbased
3) USAbased (4) Australia based
TS Trowtaly Ko B398 Bohod.
ERsy (2) ow.8. (3) c.2%.9. (4) ehodse
116. The Kruger National Parkisin
(1) Greece (2) Russia (3) South Africa (4) Singapore
&8 erdah 550 & BFos® dod?
(1) &8 (2) &g 3)) S espse 4) | 2oK%eE
260 Ble ;
117. Match List I with List-I1 and select the correct answer
List -1 List—1II
(Kingdom) (Rulers) -
a) Vatsa (i) Udayana ) e
b) Avanti i1) Prasenajit
(c) Kosala ii1) Sishupala
(d) Chedi : (iv) Pradyota
erdar [, erder 11 6 36500 K0 wonid Hiioeemsikn Sorksn.
erdar I erdar 11
(Trasgsim) (rotos )
(a) 8 (1) asabm
(b) wBod (i) @hses
(¢) &%o (iil) BHIrentd
(@ =6 (iv) @&t
The correct answer is / %0 ®@ond SErerEsy
(a) (b) (c) (d)
(i) (i) (i) (iv)

(i) (iv) (i) (i)
3 E}) (i) (iv) (i)
4) (1) (i) (iv) (i)

118. tis the expansion of NASA ?
National Agency of Space Administration

(2) National Aeronautics and Space Administration
(3) National Airand Space Agency
(4) Navigational, Aeronautical & Space Agency

TR D D DD ?

(1) TS 2@y 6D s ©8)EE
(3) T3S 2B & )R azEd)

S D8 & [T w80 HKS
(4) RS, DSBS & By% Had,

28
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119. Vlilhlcl;;r;i? he;;)]l}{:\vmg statements is not correct about Ashoka and Mauryas?
ma—
(1) ahamatras were a new cadre of officials created by Ashoka to spread
Dhamma all over the empire,

(2) Accordl'ng to Mauryan sources Pradeshika, Rajuka and Yukta were important officers
at the district level.

(3) Pativec?Taka and .Pu]asani, were responsible for maintenance of Treasury and accounts.

(4) According to Dipavamsa and Mahavamsa Ashoka killed 99 of his brothers and
succeeded to the throne,

EP o0 B ©FHIS $00BoDE0SSEL, & BoB HS55SEmes® 565700 a6 ?

(1) &8 derape & iy Mposiness Hetboms eFbd SEHFrkrmHn o W
OB HOH DHWOTH, |

(2) The WE ordive Hbo SdbHe, CebHer HOGH ‘dbfer’ @ 06
o5 e,

DHILE 58650 HoFeen oo 55@3&55.;6653; Herosrei (8% e0) Sr .

(4) B3Bo¥ WO HWFLoE KHorsve Gesn oFfhHd 85 99 Hod MEHOH H6OD

QOTEIDE0ED 535,

120. Who among the following composed the Mandasor Inscription ?
(1) Vatsabhatti (2) Chitradatta (3) Parnadatta (4) Chakrapalita
H0FREE FPHIEE QS ? =
(M) 558 (2) osss () sgss  EEB (4) SE>08
121. Which one of the following statements is not correct about Jainism ?
(1) According to Jaina tradition, at the time of Mahabharatha war, Jaina order led by

Neminatha, who is récognized as the twenty second Tirthankara.
(2) Jaina monks were found on the banks of Sindhu river at the time of Alexander’s

invasion of India.
(3) The famous Gomateshwara statue was erected at Sravanabelgola by Chamundaraya,

the king of Gangas in 11*" century.
(4) Mahaveera preachedin the mixed dialect called Ardha—Magadi and his teachings were
classified into tweleve books called ‘Srutangas'. _
& 8o PO 5B BHEIB $040BONSoSSED X0 SHEDBH0E (HHS5EN?
a8 Gogmdbo EeGE HETSEEE: 8 B Hewd Sowe

PSS dn SLPRTER s 22:% BEoEBA™ 1980 FroBi.
(2) wr58ddop eBmord HokdrE 88 BS oo JofHh VOTEREroSinG” el

BeHB.

(3) ©ng BodS A
TeRNOLTeA0.

(4) b 85 Fosed

o Snenrr HE°oBT°oD.
N ——————"" 39

SBEY Y, 2800 NoBEIH 11 $ dorgod® Mo Sodpand

w5 & £P00BH. v Ssden @Wdorrer HHE 12
Q




122 rtion (A): Balban could not raise the numerical strength of the army to ¢} le
- Asse : Ba , -
it reached later at the time of Allauddin Khilji.

Reason (R):

Ve Whigy

Balban insisted upon highbirth asan essential qualiﬁcation for apmintmem

to higher civil and military posts.
Choose the correct option from the following: |
(1) (A)is trye, (R)istrueand (R)is the correct explanation of (A)

(2) (A)istrye, (R) is true but (R) is not the correct explanation of (A)

(3) (A) s true bu (R)is false
(4) (A)is false but (R) s true
3‘3.]6650 (A) :

S50 (R).
TR GPAOBK.

o7
i

TO)S Gy D58 Sogrgdiore @ﬂ:&éﬁ i}é ¥ D5 o DE6 5o,
BEDEEEE 59 86’ 9 S8 Gers SPOBTRAS &y SS® Hexsisn o, o

83808 a3t 0& $6 wany SIS QoHEEod

(A), (R)en R8580en S8 (
(2)

R) @38 (A) % 56658 9556
(A), (R)en Osoen, 9 (R) o3 (A) % 56358 056560 505
(3) (A)s8os8 (R) 58550 502

(4) (a) R0 5265 s08) (R) S5
123. Match List I with List-IT and select the correct answer
' List -1

(Texts)
Kumarapalacharita
Vikaramankadevacharitra
(c) Rajaﬁarangini
(d) PruthvirajRaso
808 D w508y,

0 -1

(odsime)
(a) SErsroses
(b) - DELro8T 5588
(¢) orastonds
(d) 535505 ol

(@) (b) (c) (a)
(M 6 ) () )
(@) () () (v) ()
(iv) (i) (i) (3
(4) (i) (iv) (i

(a)
(b)

List—11
(Authors)
(i) Chandbardaj
(i) Kalhana
(iii) Bilhana
(iv) | Hemachandrg

o -II
(BSowien )

(i) oo
(ii) Somtd
(i) Dot
(iv) o



124. Match the following.
List - I

- List—1II
(Dynasties) (Kingdoma)
(a) Nizam Shahis (i) Bidar
(b) Imad Shahis ~ (11) Golkonda
(¢) AdilShahis (iii) Berar
(d) Qutub Shahis’ (iv) Ahmednagar
(e) Barid Shahis (v) Bijapur
& Bob PO BB
O%-1 O-11 i)
Cuosine)  (vegie) -
(a) Qero drbren (i) Hus
(b) =58 pires (i) Aepon
(c) ©bSphren (iii) 26
(d) &S pdren (iv)  e5es8 $K6
(e) 065 ires (v) beirl
(a) () () (d) (e)
(1) @) (1) @) () @)
(2) () () @v) (i) (v)
3) (v) (@v) (i) (1) @)
(iv) (i) (v) () ()

125. Which one the following statements is not correct about Bahamani Kingdom ?

(1) Bahamani sultanate was founded by Allauddin Hasan Bahaman Shah in the year 1327 AD.

(2) Amongallthe Bahamani rulers Shihab-uddin-Mahmud’s was the longest rule.

(3) Mahmud Gawanwas appointed as Prime Minister of Bahamani Kingdom at the time of

Muhammad Shah IIL

(4) Kalamullah Shah was the last ruler of Bahamani Kingdom.

& Bob BB SSE0E" OB BN e b $oHBODIOESEL 36 0Nk Sb.
- el doerats eeredS 4545 S B 132768 FLosalod.
(2) a2 me)ﬂéwocﬁﬁeﬁa AYe] 655 Lodroh 8 sre0 0B,
(3) So¥esinyd ap 111 el se08° Lot KPR Ers So@re AaHoSDE.

(4) 2% HerRes B8y st Ferd BePane ap.
A 31

L_ A




126. Name the Afghan who played an important role in forming Rajput confederacy against Babur

at the Battle of Khanwa in 1527.

(1) AlamKhan of Kalpi

(2) HasanKhanMewati

(3) Nizam Khan of Bayana

(4) Tatar Khan Sarangkhan of Gwalior

1527 sy o0fod® erab % $8050m s Kkragh Sovyn Baheod S T

LB H2PoBD ?

(1) ¥583068 soosrd w45
Hart3 8 BobS IS 5 g

(3) =PcHiS % BobS Jero g°8

(4) ™OADE L BobiS &EE g8 8ok S

127.

Which one the following statements is not correct about Shivaji Coronation Ceremony ?

( 1) It was conducted by ‘Vishweshwar’ a Pundit from Benaras.

(2) BalamBhatta was a family priest of Shivaji

(3) On10™ June 1674, Shivaji re-married hisfour surviving wives according to Kshatriya
rites.

(4) Shivaji was obliged to undergo a second coronation ceremony on the suggestion of a
well-known tantric priest, Nishchal Puri Goswami.

& Bob HSSSEnes® DB K6 eanod S0t ?

(1) B HEpHASHND DS EroNob arrsd © BodK ‘DIFFH’ HodSH.

(2) ‘oS aly Bard Hivon HEErHD.

K80 B0 Hsbo a8 10, 1674 $ 8d £0D &%) &5 Sevidh P 6N

DaPeTS0 BTK.

(4) " o8 oTdHgd oowd VEHE O ARy o dad 86A BePHHE B0
52 Q0HE 8% 0BT,

128.
+(a) SantTukaram (b) Chaitanya Mahaprabhu

Arrange the following Bhakti leaders according to their year of Birth.

(¢) GuruNanak (d) Kabir

5 80B 458 58 HIEHO 2y KoBB)B0 egriore SE BHKs® HE 0B,
(a) o0& deoro (b) PSSy eH
(c) o exE (d) &6

(1) () () () (@

2) () (@ () (a)

(3) () (2) (4) (b)

@ () ) ()
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129. Which one of the following statemept 18 not correct about Raja Ram Mohan Roy ?

(1) Hecondemned theido) Worship and Brahmanical rituals.

(2)

He propa i '
propagated Monothesim gngq stated that religion and divine worship mere personal

matters of an individual anq unjustly controlled by Priests.

| (3) Tosupport his arguments, he depended upon Vedic and Puranic Literature,
(4) He wrote a pamphlet ‘Anusthay

Samaj.

Prescribing the mode of worship to be followed in the

% 800 BSOS’ D8 02 0% A5 ek 6 0080 DB0BS K6 SOTB . oo

(1) @8 QIFTEE5 $HBa%y B emen 85 3A0F D918 sartreD poloB.

(2) o D00t Fsodd eoss 58 g sEwDS MDY SV 0 Bo b2
O 85 shSostd LRVSENAR OB 8,6 i BB B,

(3) 88 e Gty EriiredS s 6% Sissen 0t 07 FAroR ST,

Pie0Ere06® 155089 emis & $586° aoree® 800 Tiyo ‘wHAPS’ B o0 HLEAY
8008,

130. Which one of the following statements is not correct about Portuguese presence in India ?

(1) In 1498 Vasco-da-gama reached Calicut on the Malabar coast where he was received
cordially by the Hindu Raja Zamorin,

(2) Francisco de Almeida, the first governor of the Portuguese in India followed a policy
known as Blue Water Policy.

(3) Portuguese conquered Goa from Mysore rulersin 1510 and made it their capital.

(4) Alfonso de Albuquerque was the second Governor of Portuguese in India who tried to
introduce reforms in the Hindu society by legally abolishing Sati.

POEBE06" Doy 08 HotoBoDSoEBSE 8 Bob TBE° DB K6 wonks 5o ?

(1) 1498 HossBos® FRhumsr Sowb 85060 045 6 WWm ehd ot oo
P08 B PSorr siiBoBRD. |

(2) ru8BE0s® J0ts8 Doy K555 wowd WU, & 05 ar b dpdiy
©5008)od. '

1510 Hod8)506® Biieb e Hob Py ot Fard owod A 85 Tageirr

067,500,

(4) orusdsost 2Pty 0 ot KSEE P AODEZS ‘w810l & werys6y, Shefore 580
6 Soorieion Ty emotse 555Pe06" K08y 500 ©oKT s PO,

=
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ogically based on their inception,

o 1 :
131. Arrangethe following Political Associations Chmrllo Poona Sarvajanik Sabha e
a) Indian Association dg Bombay Presidency Association
¢) Madras Mahajana Sabha : Lo @St S,
& 808 orafah Soserd ©9 @udog)oasﬁ ferats ole) ardore ¢ )
L (b) e ;3”(‘55&3:‘05 des
Ea)) :fe’dbs fidi’;s (d) erod BB, ORFDADRS
c (G S0s3Pesd & Do)
1) (a) (b) (c) (d (bg (a) (")) gg; s
GHEHE  Tweee B
132. Who among the following is not associated with defence of the ‘Indian National Arpy
prisonersin the Year 1945 —46?
(1) Bhulabhai Desai - (2) Jawa}:ﬁrlal Neh‘.'“
(3) Mahadev Desai (4) Asaf ol
& 800 B A5t 1945 — 46 7763 ‘BoBHS TS @by B © 8598 TN TS erHFgEinger 5w,
. B
(1) erererondeon (2) es:ebord I S5psdeon  (4) edded
133. Arrangethe following important events chronologically based on the Muslim separatist politics.
(a) Deliverence Day (b) Lucknow Pact - '
(c) Direct Action day (d) Establishment of ‘All India Muslim League’
SR (3835 5 Tresdabiswos® & Bod EomgSonid Ho&ENeR D e @)%,
(a) BOIBSHE (b) oS a0t .
(c) OS5 5885 (d). ‘@Smodasr Sndo HF Hovytw
(1 ; (@) (a) @ @J (d; (b) <a§ (c)
(3) (d) (b) (¢) (a) 4) (d) (¢) (b) (a)
134. Which one of the following opinionson the nature of 1857 Mutiny is not correct ?

(1) John Seeley: “The Revoltof 1857 as a wholly unpatriotic and selfish sepoy mutiny with
no native leadership and no popular support.

(2) James Outram & W. Tayler: “The outbreak of 1857 mutiny as a result of Hindu -
Mushim conspiracy”.

(3) R.C.Majumdar: “1857 Sepoy mutiny was not a war of Independence. There is nothing
in the conduct or behaviour of the sepoys which would justify us in the belief or

. assumption, that they ‘were inspired by love for their country or fought against the

British with the definite idea of freeing their motherland”.

(4) William Darlymple: “Itis a conflict between civilization and Barbarism®.

1857 Raave Broertn SurSing & 8o e DI Aot 6 56 ©onss sk?

(1) S 58 :“1857 8&berey 3§5§ 89, PBI0S Daxrone B%rdertn o A28 Fhdwe
TAHEEE0 5o (HSertSearr S, ’ »

(2) BB 3536(5”:’5@-{53? 1857 8rbartn rotse sfion Gk b s8E5IED".
(3) 6. 8. Heroreb: “1857 darape BG1Heren o Portro S0, moHes® Fos:s) Moo
BSGS 10 708 8 340 5 o, 045200 Dol BBE 2r05" Doeasey 590 HI

R S5B0E”.
D0abho crRoHS: *HOLS Dbty ermrs: s S SosnSH 1857 8eprbares”.
______‘_—_‘_‘__ i R
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135. Tropical monsoon forests are normally

Evergre.en forests (2) Deciduous forests
(3) Temperaﬁe forests (4) Mangrove forests
@cﬁ);’)'cia; DB ©EHed FBoebgimme & 509, %
(1) I8 SeBE~SeagEoen a3 O°8) OLDED
(3) &@é@ﬁ@ﬁé}m (4) HE eiHen

"‘-r‘-'-—-.__.-_ -

136. The predominant vegetation of hot deserts is
(1) Xerophytes (2) Mosophytes (3) Hygrophytes (4) Hydrophytes
o derthes® Gpsomr &0 S0t S0, |

2325 (2) Bwpsy (3 mERS (4 TERS
— _
137. The hot & dry wind which originates in Sahara is
(1) Sirocco (2) Leveche (3) Chili (4) Loo
$hoe DSOS g SO P8 reve S &8yD0H
DG, (2) 833 (3) ob (4) e
138. The Mediterranean lands are also known as
(1) Orchardlands (2) Drygrasslands
(3) Evergreenlands (4) Nomadiclands
SotltSo° aeEime> 0 ErTe HeSod. '
(1) 85 eeiwen (2) 8r8 8y efesimen
(3) %88 H08 girdoen _ (4) Bde grsven
139. The planet that takes 88 daysto make one revolution of the sunis
(1) Jupiter (2) Mars (3) Mercury (4) Saturn
2.8 3B Keting oy BBA TSRS 88 Boro SHADED_ Eeknd HtHEod.
(1) @wb (2) 563 B (4) %2

140. Which one of the following is the source region for the formation of air masses?
(1) TheHimalayas (2) TheEquatorial forest
(4) TheSiberian plain

(3) The Deccan plateau

& Bob ariB6® arato TobenrT DEEERE o eGPl @rodim.

(1) Srérodire | (2) st obd @ross.
(3) &% SHser : 2H00HS Boreisism

141, Sub-tropical high pressure belts are also referred as

(1) Doldrums

(3) Horse latitudes

5 s Ba 088 His werey D900
(2) apaHe ©dIBeED

(1) 98y arece
(4) v sgs

By OFPOF 0D

(2) Wind convergence
(4) Frontalrains

e
g 35




e S—

142. Which is the largest Physiographic division of India ?
(1) Greater Himalayas
(3) Greater Indian plateau (4)

EPSEBE 0SS wE LK D80 DUNE) Y oteo b ?

(2) Greater Northern plains
The Coastal plains

l:%] o Aeikmerdfise (2) oyErE ads PErdsoe
DS 8 e ; (4) b8 prrsisve
143. InIndia Multi Mode Transport System (MMTS) was started on the
(1) 9% July 2003 (2) 9™ August2003
(3) 9% September 2003 (4) 9 October 2003
ePESREL0S® 509 I Bawew SE8HE S @rbodoTd —
(1) 982003 e 2003 S
(3) 93%0w52003 (4) 9v&E2003
144. Karewa Soil is known for the cultivation of
(1) Citrus Fruits (2) Floriculture
(3) Coarsegrains (4) Saffron
$Ba» SoyBE > GHRPNAOHE. |
(1) QoyB0zolFHos Dol (2).  Sro ;s
(3)  Spowissn s | [(#)) woss 59
145. Namchik Coal Mine issituated on
(1) Meghalaya (2) Assam
(3) Arunachal Pradesh (4) Tripura
5808 &°1% 1$0e0 IR 1 S S
(1) Dgrecd (2) oo
oErsS P8 (4) @8
146. The Konkan Railway transportation was started on
(1) 15" August 1996 (2) 15" August 1997
(3) 15" August 1998 (4) 15 August 1999
5085 BE Savee 86 7t @Yodosndod
é%) 155 erisy 1996 (2) 15$esp1997
155 ety 1998 (4) 158 e 1999
I
147. The boundary between India and Pakistan is an example of
(1) Superimposed boundary (2) Subsequent boundary
(3) Antecedentboundary (4) Relict boundary
B Eo £BdSn FEPE © Bty Ko $timists ATbn
505 HOTE ) (2) &850 K05
(3) EroPR RO (4) 9084508
— = « __/’/
A 36
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148. Which one of the following is thetate in India ?

(1) Punjab (2) Gujarat (3) Karnataka (4) F’lla_dr_r_l_i_lﬂéiﬁu

& B0 TES° LEREII™ Beddssmtn 3oas o056 7 L

(1) Hoers (2) Koexoe8 (3) bopws BDETD
,"f".—_ - =
{49. Centre for Arid Zone Research Institute is located at

(1) Bangalore  (2) Ranchi (3) Jodhpur (4) Jaipur

sy, Sotde Bog BBESI Vo 56 BoFoymase.

(1) @oKerb 2) won < 4) Erb
_m (2) 868 (4) &
150. Which one of the following state has the lowest Human Development Index ?

(1) Bihar (2) Haryana

(3) Himachal Pradesh (4) Punjab

& B0 B RAN TPes’ eiie) S5 80 ie0k (HDI) $0AS TGS 2

RS (2) SO A
(3) rdrsS @38 (4) SHo=d

R

151. Which part of the Constitution deals with Amendments ?
g0t & grKos? $i8me KHBONS SkraEo dotnob ?

AT XXT (2) XXI XX (4) X
152. Equal Justice and free legal aid are partsof -
(1) Directive Principles of State Policy (2) Fundamental Rights
3] Fundamental Duties (4) Citizenship
55 Py 9B DS FRgeh $babo wiNd) & Bod &&® B8 50250BoNRD.
388 e : (2) @58 e
(3) @reas Dby (4) L350
153, Which one ofthe following is not correctly matched ?
Pass State/UT
(1) Lanakla Ladakh
(2) Bomdila Sikkim
(3) Manapass Uttarakhand
(4) Shipkila Himachal Pradesh
& Bob r&® $6 wond 2¥s°0 B ?
€500 cn:.éfm /Bo.ar.
(1) o%Be o
GRS &80
(3) %35 800k
(4) 2580 opismisS (508
S — 37
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154. “The cit d women equally have the right to an adequate means of livelihoyg, -
. “The citizens, men and wo *

was mentioned in _
/m Directive Principles of State Policy
(3) Federal Policy
B, oS Hipes Sodh S HERRO
AT © N arrrdonlod ?

(2) Centre-State Relations
(4) Fundamental Duties
m, $nsos BETIE ol TS gpp

(1) edessmgee (2) Sogs o dowoTred
(3) HSemyderdo (4) BPE0E Deoen .
155. Parliament means .
(1) TheLokSabha (2) TheRajyaSabha i
E
 (3) ThePresident {'4')/ All the above
FERootn @S ,
(1) &S5 (2) ooegis (3) g8 258

156. “A body consisting of persons registered in the electoral rolls relating to a village comprised
within the area of panchayat at the village level” is called
(1) District (2) Gram Sabha
(3) PanchayatArea (4) Noneoftheabove
(el Homrahd Jows®, ol W rHos® Lenkn I VHHY) TEBEE D I
95K » Diootrdd ?

(1) e o ¢ (3) o“aoa“dﬁaé@‘oéfo (4) 305D

157. Inthe format of Party competition, which model is currently working in India ?
(1) OneParty dominance

(2) Bipolar competition
(3) « Two-plus competition

(4) Multiparty competition
e e D0 080 TLHT eansost, Kikdo 8EBE0S® D Srbo BikKod ?
(1) OFrfends (2) Botd rbe

(3) Both o wodsTy Iy o Y gée: 28

158. “The state shall provide free and compulsory education to all children of the age of six ¥
fourteen years in such a manner as the state may, by law, determine”
(1) Rightto Equality
(3) Rightto Freedom of Religion
“6 ol 14 Soddore ewpe Ty

is part of
(2) Rightagainst Exploitation
(4) RighttoFreedom

DB S0 meoe, D8 o8 D5
©oBoTed” @;{5 Jn)J‘iSF\I)éih’%O& a}vg)gsaas éaﬂse’gog 3] S b4] A)

(1) iy &8y 4
2
(3) &8 b8, @) Beeniy 26008 ey
n‘);)vﬁl) &"5"5’;}&

____‘H-“'N—-_
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19, «Deen Dayal Upadhyaya Grameen Kaushalaya Yojana’
) Ministry of Rura) Development |

(2) Ministry of Social Justice anq Empowerment
(3) Ministry of Communication l

(4) Ministry of Micro, Small ang Medium Enterprises
B S8 I TR0 Pl P ey

5 Q238" Aot epifo widob ?
@ (robe D50 H088; & ;

(2) im0 900 B0 o s S
(3) Werord So@ds Ty EJ&

(4)  Somgy D8) B0k i S5 BB ED0 Hoddy

—

' is part of

160. During which five-year plan was phase of heavy industrialization initiated ?

,H')/ Second Five-Year Plan (2)* FirstFive-YearPlan
(3) ThirdFive-Year Plan (4) SixthFive-Year Plan
2 0588 Ber B8 478 B0 FSofomt 2 i
3ot HoifiSy e (2) EnsBBONSY GRS
(3) ot Sousd e s : (4) w8 Bousd Bed
161. Which sector does contribute the most to Indian Economy ?
A1) Service sector ' (2). ~Manufacturing sector
(3) Agriculturalsector - (4) ‘Small Scale Industrial sector
e} Qgé o")ﬁ&’)Qé‘s o Golfo wd%o ésq]tfoiﬁzoﬁ ?
Ssoborfo (2) aiebdorio
(3) 5t borio » (4) %) 864 5650 Soffo
162. Which type of unemployment has the marginal productivity of the workers is zero ?
(1) Seasonalunemployment. (2) Involuntaryunemployment.
(3) Disguised unemployment. (4) Structural unemployment.
O S5 QB T oD ad08 AE)ES Ko 008 7
(1) oossssasEips (2) etytyon A0E s
B QGBS | (4) Ao grsE 6o

163. Identify the Non-Constitutional Body.
M National Human RightsCommission (2) Election Commission of India

(3) National Commission forSCs (4) National Commission for STs
& 808 #86° oremyonss S0 b ?
%0 2) w88 Mo tos
bty 5% sty $0i0 ( o oo
(3) epbos drsd Hero SosH0" (4) =8ch ndrd e somo
A | 39




164. Whatis meant by Monetary Policy ?
(1) The process by which the Parliament controls the Mo
(-67), " The process by which Central Bank of a country contro
(3) The process by which IMF controls the Money supply )
(4)  The process by which World Bank controls the money supply

ney supply
1s the supply of Money

5355 Do wNPRD ?
(1)  rBobn g5 850K Aeho@oisio
$ =
&8 B0 Go¥) Bois ergo (§i55 SEHTHD Dahodoisio B

(3) wodtrdab g5 O i BEHTmH AadoBoilio
(4) B0 ergoth i B0 dehoBoisiso

—

165. Ifthe Balance of Payments of a country is adverse, then which institution will help that country

(1) World Bank (2) WTO
3] IMF (4) AsianDevelopment Bank
&8 B0 85 e (Balance of payments) 3oSER BE® ax)Hid & S0 8hE0otn0b?
(1) B0 eros (2) %o e o
©0STBUH (55596 (4)  edoim ©DS)B emsoH

166. Which of the following are called the Twins of Bretton Woods ?
) IMF &IBRD (2) IMF&WTO (3) IBRD&WHO (4) ADB& WHO
& Bob 8S° I8 BES HE ESoesr Lendrtd?

0.90. 09 & ©.9.05.8 (2) ®.20.25 & Ka;. 8.4
(3) ©.9.05.8 & ag. 375. 4, (4) 2.8.0& K. 275.4
167. Who was the founder of ‘Hyderabad Protection Samithi’ ?
(1) Boorgula Narsing Rao (2) Hayagreevachari
(3) Ramachary | (4) Mandumula Narsinga Rao
TrETrers BPBES 508’ PHETTE ?
1) arde $y0K0°% (2) SraHfSas
TEPT0 (4) o $6y0KT0D
168. The Gentle men’s agreement at Delhi wassigned on:
( 1 ) 16t February, 1956 (2) 18t February, 1956
(3) 19 February, 1956 (4) 20* February, 1956
8D & BEDDHO e.tfoalds’ B J B Sosto Subndse
(1) 16%es8, 1956 (2) 18926, 1956
(3) 19%%@i6,1956 20" H@i50, 1956

169. When was the first Industrial Policy of India launched ?
ar68 Db’ Fnts OENE DPo Aijpisy AesoBosSplod ?
(1) 1956 1948 (3) 1951 (4) 1965

I




170. Wh? otga e C?emocratic Telangana conference in December, 1997 in the banner of All
India People Resistance Forum?
(1) Marrichenna Reddy

: Shankar
(3) Kaloji Narayan Rao (2) K.dJayaShanka

monf 199 % (4) VedaKumar
8208 75 %0880 & ‘b molaie hid,y ONRS) Hbo’ @b Bots BEPELS
Bo0res 5% )0 ) DS D Broaes) ?

(1) 03758 8. ok’
_,__.._.(-32— 6 E SrorahETEd) (4) Besseb
171. Identify the commission appointed by Telugu Desham government in June, 2001
(1) Bhargava Commission (2) J.M.Girglani Commission
(3) Non-Mulki Protection Commission (4) Telangana Mulki Commission
28 , 2001 3 SoXdyso &° BeorbdFo Bebiso DapenoDs SBS S rhRosed
(1) &gs5aS JM.AGPH DS
(3) =% by @BES SDES (4) Booren snd; 858
172. What is the historical importance of the day 27t* April, 2001 in the Final phase of Telangana
Movement ?
(1) Formation of Telangana Elites Forum  (2) Foundation Telangana Jana Sabha
(3) ‘Bongiri’ Declaration (4) " Foundationof Telangana Rastra Samithi
B0 A ©oBHEE a0 & 27905, 2001 soEs @rig o8 ?
(1) Beorres 295 1§50 Dozt (2) Beoonres aSde PBS
(3) 2b%5N0 BESHS Boormes oG 5008 S

173. ‘Nizam Subjects League’ was founded by few educated elites of Hyderabad State in the year.
Qa0 58 HR’ & grisoeers oo S50 E°055> Dy S0HBS EPHen @ BosdBos® 2000 ?
(1) 1929 (2) 1930 (3) 1932 ((4)) 1934

174. Who was the ‘Home Minister of India’ on the historic occasion of signing of ‘Gentlemen’s

Agreement’ by Andhra & Telangana leadersinl1956 ?
(1) Sardar Patel Ezg Govind Vallabh Pant
i i 4) Moulana Abdul Kalam Azad
3) Morarji Desal L
(19)56 a‘)ogogéﬁo & 3320553«535:0& o KonlED BOE $HBAD Buorrn wabbed Jodste B

TOEE Sotstysone et e 8BE Foo® D50 ?

(1) Sopb28S
._____(3) Swoed Baean

D08 Sob H08
(4) SPerae wmd Sero verd

175. How many seats were ﬁon by ‘Telangana Prajasamithi’ in the 1971 General Elections in

Andhra Pradesh ?
1971 % o Bo6* ©ogEes & BN FTEn DS, Boorre GHariins ARy b ADD0S ?

(1) 12 (2) 11 (3) 14 10

A a1
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176. Who was the editor of ‘imroz' a popular paper in Hyderabad State during the perjog of

Osman AliKhan?
(1) Md. Arif Khan (2) Md Igbal
(3) Shoebullah Khan (4) RazaAliKhan
68 byl seodt griorers trap 6 B ModS sErs HBS DBLE 5B ?
Md. 85 g»S (2) Md.ssp$
LFaner g8 (4) Sereodys

e —————

177. Arrangethe following events related to Telangana Movement in Chronological order :
(a) Telangana Vidrohadinam -
(b) Bhuvanagiri Declaration
(¢) Namaste Telangana daily waslaunched
(d) Sagaraharam
Boorres a55%Hsn &° Homorsn) & Bob KombsesH B HE8E° estyos
(a) Beorrs &t a%0 -
(b) 2HEHAB BEBHS
(¢) B Boorre &3 HBE FEodoHe

(d) AnssES0

(1) a,cdb . (2) b.cda
a,b,c,d (4) d,b,ac

178. Who described the post of Deputy Chief Minister as ‘sixth finger to a hand’ ?

(1) M.ChennaReddy (2) Neelam Sanjeeva Reddy
(3) B.Ramakrishna Reddy (4) K.Brahmananda Reddy
&% Sneo® H8D D88 ettFer e 355 ©HB00DH ?

(1) M.33%38 deo Sods 38

(3) B.ovio8)ds (4) K eifsot3s

179. Identify the leader from Andhra region who was not a member, who signed on the
‘Gentlemen’s Agreement’ in 1956

(1) Damodaram Sanjeevaiah (2) N.Sanjeeva Reddy

(3) GauthuLachanna (4) B.Gopal Reddy

1956 & Sosdfo & JEHH atontsp Soswe I8 so Bod et HEP
508) arcH%) HBoSod.

B EBo Sodaky

(2) N.Sodsaa
(3) Mol

(4) B.R>Ecs

A 42



180. Justice ‘Srikrishna Commlttee’

o (4)

181.

(1) 30 Nov, 2011 submitted itg report to UPA government on
(2) 3"Feb,2010
(4) 23 Dec, 2009
By 0BG ?
(2) %@®63,2010
82006 23,2009

(3) 31%Dec,2011

220 8 6)R 808 UPA epanda s BE O B 16
(1) $dowb 30,2011

(3 ) &2026 31,2011

_—

Arrange t'he following events connected with the Second phase of Telangana Movement in
chronological order :

(a) Appoinment of Justice Sri Krishna Committee
(b) RailBandh
(¢) Million March

(d) Submission of resignation to Chief Minister post by N. Kiran Kumar Reddy

B0’ &8 Boorre etisEno &° & Bots sswas Sotmbbns E 5586° o5
(a) =RVE B80S dosrsgo

(b) BS 208
(c) DHS 576, 2 =
(d) Hwago® H508 N. 855 b 38 crdamir 550058
a,b,c,d (2). bd,ca
(3) dbca (4) b,cad
182. Thestudents of Telangana conducted ‘Telangana Vidyarthi Garjana’ in Osmania University, on
© (1) 14" June, 2013 (2) 37January,2010
(3) 37January,2012 (4) 10% April, 2011
Boorre Hueghen B DE; DEgEaH0st, ‘Boorren DT HES O B ARroT ?
(1) 14w8,2013 ([@)) 30,2010
(3) 3e%56,2012 (4) 10 2®S,2011
183. Identify the person who brought the illegal appointment of non-locals in Kothagudem
thermal power station for the first-time into public?
(1) A.Ramadas (2) A Ravindranath
(3) SreeRamadas (4) IKiranNath
S EKrR0 85 H56 RS S 35 ~eSS ) ), BED VA8 aqcﬁwa&amawm Jore HOE &°8
?:3; ; :fﬁo - (2) A.8dogs6
oS (4) L&&~8
e ———”’_'_’—’_’_’—:!—3—_
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184. What is the impact of “Climate Change” on troposphere ?
(1) Increased CO, levelsincreases C; plants productivity
(2) Increased CO, levelsincreases C, plants productivity
(3) Precipitation increases throughout the earth
(4) Temperature decreases throughout the earth -
€096 Sois “ararsses S0°8)” A8 BHerS0 DA ? %gg
(1) 28na% CO, Fow S0 C; Ko Bidad BHHE
00 CO, row SOS Cy 08y © BHOE EKE
(3) & Iogo fois @0 DD
(4) a0 3080 fors adfiss 26100

185. Which of the following radio active elements is used to make nuclear fission reaction ?

(1) Thorium _{2) Uranium (3) Barium (4) Actinium
808 D BGIr £r8,% Haresd) ddERAH Sogsy D8 SB5% wHEE?
(1) &oaso aBRabo (3) odbo (4) o85S
186. Satellite communication uses the following electro magnetic waves
(1) VisibleLight  (2) X-Rays (3) Micro Waves (#) Radio Waves
BoRE aHsTro & Bod St DD BIDHI) 08 SBorredD SSRPACKE ?
(1) 8y¥588emen (2) X-—88eren
DE® Sorren (4) Ba@r sorren
187. What is the code name used for first Indian nuclear test ?
(1) Chargi (2) Pokhran 43" SmilingBuddha (4) Pinaka
BoAAIE vkt SrsBaE 5K 2650 T 96 Bk,
(1), =0 (2) S 2400F 2t (4) o
188. Speed of internet is measured in
B0&TEH G JEJ HISE S
(1) GHZ (2) GB (3) Dpi ) GBPS
189. The common components of photo chemical smog are
(1) OzoneandSO, (2) NO,and S0,
(3) Formaldehyde and PAN (4) Ozone, Formaldehyde and PAN
5°08 EabiS )f 6° FerSmonr dod ekt
(1) &&°5 Hbas» SO, (2) NO,%8a5 S0,
(3) 0o02rE B PAN 6878, 30m030E 580 PAN




190. The first patent was issued on a human gene sequence is located on which chromosome and

what kind of healf:h rigk is caused due to its mutation ?
(1) 4 and Hun?mgtlp 2) 23 and Hemophilia
(3) 7 and Cystic fibriosis 4) 17 andCancer

2.8 50758 eskog B8 FwesBABe HBoLS e Boowds ekgd O B PRI is 6ob? ©B AHDBEH

3008 & DN 685 50y Bewrbdosd ?
(1) 4 5Bk fmoﬁgﬁ (2) 23 S80S0 SrarehH DT
7 00 HRE HoD-HT (4) 17 £0d0 K6

_,.'-‘_"'_—_-'—.__n - -
191, What1s the reason for increasing sea level in some coastal areas ?
(1) Decrease of CO, in Troposphere

(2) Increase of O; layer in stratosphere
(3) CH,trappedbeneath frozen soil of Alaska
(4) Aforrestation @EE
59 88 @rozrod® S M Hipen BEKTRIS so8e0 DS ? =
(1) E5°DBaH6 &° CO, St
(2) P9l V0NE &' O, & DENSL

3)  wod,8 HI0DS Jo e Bois H8)% CH,

oiHe o8O
192. Which of the following plant has high levels of Protein and richin thiamin in its seeds ?
(1) Brassicarapa (2) ' Arachis hypogaea
3) Linum usitatissimum (4) Pennisetum glaucum
& Bob D 3w, Noees® BB Sros)en BEN PR S8 aotran ?
(1) erdsooedr ! (2) wodS BT
855> rDErBRDS (4) 2SS
193. The main reason of ozone layer depletion is due to the release of
(1) €O from vehicles %2) S0, from fuels
Chloro Fluoro Carbon compounds 4) Methane gas in atmosphere
THE 2 St Bob G @ STTer SEHtminG™s Dbie SHEDD Swwy S5m0 ?
(1) aedrare Hoé& CO 5B Hod (2) =moFTre Kol SO, NdB HoF
565 R6° 565y STCped (4) oS00 HBS o Hos

194, What is the functionofa modem ?

(1) Encryptionand decryption ' .
(2) Voicetodata conversion and data to voice conversion
Convert from analog signals to digital and from digital to analog singlas

(4) Check for virus
ArES> B BHaHaHi e ?

(1) Encryption “rBaso decryption _ _
(2) s ool ot doon T 08 EPY £ KT OEES Em o
o5ooF 50880 Eod 8268
$oBB0 LETATES Syl

(4) BsHs%o &2 Davso

%od80 eEPREES Srlt HHBck E86S $os8o Hod elerh

\'-/.——/'
A 45



195. AKind of injury or damage that results in the damage of premature death of all the near by
cellsin a tissue or an organ through autolysis is known as

(1) Neurosis (2) Necrosis (3) Apoptosis (4) Cellularselnescene
28 B rPaHisn 8BRS & Ko SIDEGH Snoth &85y  tissue ) See eorii & Bob P& S50
DIes B

(1) S8 (2) SrgESRR erPRS  (4) PergeeB Sy

196. Arrange the following events of “biogeny theory” in a sequence.
A.  Formation of coacervates
B.  Aerobic organisms came to existence
C.  Heterotropic organisms began to form

D.  Mycoplasmas are first formed cells g :

“DBrd ?Jm;oéjo”ésa &3 (806 5050 SHJEDS® s el

A 58w SaesrHe

B.  oaridrd dden a8S58 Soeyow

C. D508 EHen Intserde

D.  R&Jpdeien Iotaaoishe Sasrdont Swpen

The correct answer is / %8 @on S&rErddn

(@) apcn (2) ACD,B (8)” BACD (4) ABCD

197. Infiber optic communication the sourceof Light used is

(1) Light Emitting Diode (LED) (2) Compact Fluorescent Lamp (CFL)

(3) Diode A4y~ Semi conductor laser

85y8° B0y $o8Y &° O 08 25850 AOAPAID ?

(1) =08 s EamE (LED) (2) =oE P 30t oS (CFL)

(3) &&rE OF P Bab
198. The size of quantum nano dots is around

500D T @¢5,) By SEPEIE HBSmesm Devsd

(1) 300nm (2) 200nm (3) 100nm @/wm
199. Data scientists require the following skills.

(1) Data visualization only (2) Machinelearning only

(3) Statisticsonly (4) Alltheabove

e QP HOBUR SEEINS® Senisdih, sBeasio.

(1) ootrHF IPos® SrSob S (2) cEPoBY St SrED

(3) Hewos agim SrEd @) =32

200. Increasing blood clotting time is due to the deficiency of which of the following vitamin?
5 DT &5 o 8o K 88 $5a%Hsn DLHIHSH08?

Vitamin K (2) VitaminB, (3) VitaminA (4) VitaminC






